@ YA M A H A New product information

ev:s VYourHear”

Motor-less

Your choice of Motor
and Driver System

Motor-less Single Axis Actuator

= Robonity

series

Wide selection of payload and speed requirements Wide selection stroke range

Choice of stroke range from
50 mm up to 1450 mm

(Advanced model LGXS only)

Choice of ball screw leads



BasiC model

LBAS

High Rigidity

Low Cost

LBASO4
PP.4
_ LBAS05
Maximum payload 2 kg to 100 kg
»P.6
Maximum speed 133 to 1,333 mm/sec LBAS08
Stroke 50 to 1,100 mm PE LGXS05
»P.15 LGXS05L
Nl LGXS07
Newly designed integrated guide rail/frame structure. Bl
Improved moment load capacity in compact frame size.
Designed to accommodate motors from most leading manufacturers.
High Rigidity High Precision
Moment rigidity is increased approximately three times from Straightness (running parallelism):
current models. +/-0.02/800 mm
Existir!lgeeroduct LB ASO5 Existir_\lgg;:iroduct LB ASOS
MY 35 59 My 86 221
MP 40 63 MP 133 309
MR 50 103 MR 117 343
(N-m) (N-m)
Compact Motor attaching direction, Easily changeable
Frame width is reduced by with the SpeCIaI bendlng part

approximately 20% from
current models

Existing product T6L LBAS05

o)
LA LI LT Standard Left Right oy T
[——
Installation process is simple and easy Easy Maintenance
1. Mounting holes are accessible from top or bottom without disassembling Moving parts can be lubricated from
actuator unit. outside without opening actuator

2. Standard surface on the side and dowel pin holes on the bottom.

.

Standard !
surface 26.7+/-0.03 27

Grease nipple on the slider side surface



Advanced model

High Precision Accuracy
Class C5

High Durability

Clean specification as
a standard feature

LGXS20

pP.21
Maximum payload 2 kg to 160 kg

Maximum speed 300 to 2,400 mm/sec

LGXS16
LGXS12 »P.20 Stroke 50 to 1,450 mm

LGXS10 »P.19
»P.18

Higher efficiency, accuracy, and reliability from ground ball screw.
Ideal for base axis of multi-axis configuration.

High Precision

* Adopted ground ball screws
Ball screw Remove Accuracy: Accuracy class C5

* Positioning Remove Accuracy repeatability: +/-5 ym

Shortest Overall Length

The industry’ s shortest class is achieved for the
total length in relation to the effective stroke.

LM guide
Ball retainers

Ground ball screws
Accuracy to JIS C5

Cleanroom Ready Design

® Protective stainless dust shield
M Simply attach vacuum fitting

® Ports are ready for vacuum fittings

Stainless steel dust shield

Cleanroom roller mechanism

Vacuum ports

Motor orientation is changeable with optional
conversion unit

Motor unit of standard straight type can be used for
side-mount setup.

Standard = Conversion adapter P Right attachment of bending

3 I



@ Motor-less Single Axis Actuator

M Ordering method

LBASO4 - - [Caution]

This system is provided as mechanical actuator unit and not including any

| Modet [ Lead designation Shape Motor specification [ adopters or electric components. Motor, driver and other components required for
50 to 800
(50 mm pitch)

12: 12 mm S: Straight | |Y: Y specification (see below installation are user’s responsibility.

6: 6 mm |A:Bending | |P: P specification (see below] Refer to user's manual for installation details. Refer to your motor manual for
tuning or adjustment. Vibration or resonance from actuator will affect service life of
actuator.

The product performance may not be satisfied depending on the compatible motor.
For special parts for motor installation, install and adjust on your side.

H Specifications H Allowable overhang Mot Il Adaptable Servo Motor

Adaptable motor 50 W A ... |Flange size | []40
Repeatability +-0.01 mm Specification - ttage | 50W
Deceleration Shifting position ball screw ¢ 10 B N
o hani c A Cc Note. Motor models marked with *
& mech (C7 class) B c A be 50W b b
2- Stroke 50 mm to 800 mm (50 mm pitch) ir::]tyaﬂgti © » but can be
3 Maximum speed ‘e 800 mm/sec | 400 mm/sec ~ LBAS04-12 ;
= d Motor |41, e
% (BorquulvaITntL 12 6 Horizontal installation (unitmm) Wall installation  (Unit: mm)  Vertical i ion (Unit: mm) pecificati Model
= a .screw ea mm mm A B C A B C A [9 Yasukawa | SGMJV-A5
— "‘)":;‘I';:g’ﬂm Horizontal 12kg 20 kg 2kg| 1187] 271] 325 2kg| 325 271 1187 1kg| 534| 534 E'gfp‘"c SGM7J-A5
o (or equivalent) | Vertical 2kg 5kg 8kg| 473 62| 77 8kg| 77| 62| 473 2kg| 265 265 Keyence |SV-[1005
= Rated thrust "3 12kg| 431 41 53 12k 53| 41| 431 Corp. SV2-[]005
2N (or equivalent) 7N 1IN : 2 Witsubishi | HE-KP053 _
Maximum dimensions of N Electric HG-KR053
cross section of main unit W44 mm x H 52 mm :BASO:I(? tallati Uit Wall installati nit: Vertical i ion (it Corp. HK-KT053
Overall length ST + 214 mm orizontal installation  (Unit: mm) all installation (Unit: mm)  Vertical (Unit: mm) R88M-K05030
A B | cC A B | cC A ¢ Qmron  [REBVLELD 0
Using ambient 0to 40 °C, 35 to 80 %RH Electronics |R88M-1M05030
temperature and humidity (non-condensing) 4kg| 1808 155 217 4kg| 217) 155 1808 1kg| 639 639 Sanyo R21A04005
Note 1. Positioning repeatability in one direction. 12kg| 801 47| 65 12kg| 60| 42| 756 3kg| 208 208 Y %7
Note 2. When a moving distance is short and depending 20kg| 546 25 35  20kg 35 25| 546 Skg| 122] 122 Seiki * TSM3102
on an operation condition, it may not reach the Delta  lemiin mqmone
maximum speed. . . Note. Distance from center of slider top to center of gravity of object being carried at Electronics ECMA-C1040F
FaeCo 190275000
vau uming utpu Note. Service life is calculated for 500 mm stroke models. ) 1FK2102-0AG
the rated torque. Siemens o aros A
Note. See P.10 for acceleration/deceleration and inertia 1FL6022-2AF
moment. Schneider |BCH2MBA53
Beckhoff  |AM3011B *
. . Allen- *
B Static loading moment Bradley | TLY-A120
p Panasonic |[MSMD5A

Corp. IMSMF5A
(Unit: N'm)
WY [ WP MR
[MR) [(MP) 54 54 75

e ; N
LBASO04 Straight type (S)
La
S 134 Effective stroke (80)
| l 25 (Note 1)
: o : 50 _
I % | | 79 (Note 1) g2@ (Le), - 57
 Pep 4 = H 2 40 B z85 e Sa| o @
i \5% 3 | « ‘ ‘ é 5 < % o~
i PN | [ - i f =] @ ) =] 35
| e o e e ——— T — o :
: 4-M3x0.5 Depth 10 . 5 . - ,TJ 2 -
| | Detailed drawing C Detailed drawing D
: Motor [P] type : 2-M2x0.4 Depth 6 4-M4x0.7 Depth 9.5
Lo _ (same for opposing side) 2-¢3H7 (*3°°) Depth 4.5
NS Greasing hole (Note 4) (4256)
p A—= 58.5 (90) 40
20D, 45 ¥ _\,‘ 4 e @ 29.3
'K ﬁj ‘ ‘ = — Tl 1 ‘ ‘
o~ ~ | |
A—=] P pe— = © 5
4-Mdx0.7 Depth 10 Sl B L
Motor [Y] type Grounding terminal (M4)
(same for opposing side) Qa-M4x0.7 Depth 10 $3.4 through from rear surface (See cross-section B-B) .
89 Qbx100 3
25) g" (45 table knock hole position) 5 ,E Reference surface
12.35 *: "g’g = - - I
T %8 4
o 4
SF e =
i 100+-0.02 Le =—8"C
Cross-section A-A 2-G4HT (*§°?) Depth 5 (*)

Cross-section B-B

Note 1. Stop positions are determined by the mechanical

stoppers at both ends.
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 2. Please perform installation and adjustment on the
La 264 | 314 | 364 | 414 | 464 | 514 | 564 | 614 | 664 | 714 | 764 | 814 | 864 | 914 | 964 | 1014 special parts for motor installation by the customer.

For detail, refer to the manual.

Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 Note 3. For the installation through hole, the length under
Lc 25 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 head << 30 mm or more>> is recommended for the
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 hex socket head bolts <M3 x 0.5>. In the installation
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 tap hole, the length under head <<thickness of stand
Weight (kg) 09 [ 11 [13[15[16 [ 18 | 2 [22 |24 [25[27 [29]31]|33][34]36 710 mm or lese>> is recommended for the hex socket
Maximum | Lead 12 800 720 | 600 | 480 | 400 | 360 | 320 ad Dolis =Ma » 17> used toinstal the main UhL
speed Lead 6 200 360 | 300 | 240 | 200 | 180 | 160 Note 4. ;\clJcr)zdzeI?aﬁ)et for greasing (recommended) (see P.34
(mm/sec) [Speed setting] - 90% | 75% | 60% | 50% | 45% | 40% Part number: KFU-M3861-00
. J




LBAS04

e 3 N
LBAS04 Bending type (A)
'si | —
i o) : ! (Lc) . 5.7
i < ! l e ;; m% :
| o - I8 ] L |
i 3 : L= & 0 Ll 35
i l | Detailed drawing C Detailed drawing D
! | |
| Left attachment | —_——— - La
T T T - 116 Effective stroke (80) »
Note ) g
61 (Note 1) 50 e (Note 1) gs
] e
o o
r “gis 3
o2
o ¥
2
@ 8
% = ® q
5 Cross-section A-A
e ———— T8l
o. a_ J T
5| 2-M2x0.4 Depth 6 4-M4x0.7 Depth 9.5 (42.6)
<3| (same for opposing side) 2-93H7 ("§°'°) Depth 4.5 40
Greasing hole (Note 4) (60) Right attachment 29.3 95°
L s 3
405 s ‘ len "
I = °C D.
7 of 1 o .
o 0 o b f/i =
N ) A ° o % y‘o &’I
Grounding terminal (M4) _ Motor [Y] type ~A
(same for opposing side) Qa-M4x0.7 Depth 10 ¢3.4 through from rear surface (See cross-section B-B) 4-M4x0.7 Depth 10
) 7 Qbx100 (Lb) §
‘ (45 table knock hole position) E Reference surface
=8 b,
& 3 3 3
=4
o o
100+/-0.02 Le =—8C
2-b4H7 (*§°'?) Depth 5 (*)
Cross-section B-B
Note 1. Stop positions are determined by the mechanical
stoppers at both ends.
Effective stroke | 50 | 100 | 150 [ 200 | 250 [ 300 | 350 | 400 [ 450 | 500 [ 550 | 600 | 650 [ 700 | 750 [ 800 Note2. F"ea?el Pefforfm installation T|nd- adigﬁ‘:en‘ on the
La 246 | 296 | 346 | 396 | 446 | 496 | 546 | 596 | 646 | 696 | 746 | 796 | 846 | 896 | 946 | 996 Special parts for motor instaliation by the customer.
or detail, refer to the manual.
Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 Note 3. For the installation through hole, the length under
Lc 25 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 head << 30 mm or more>> is recommended for the
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 hex socket head bolts <M3 x 0.5>. In the installation
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 tap hole, the Iength under head <<thickness of stand
Weight (kg) 11 112 | 14 | 16 [ 18119 | 21 | 23 | 25 |27 |28 | 3 |32 | 34 | 36| 37 Nestihbdeierituetihitiarag
. ea 0lts . used to Insta e main unit.
Mz;'e";gm LLeeaa(:‘|162 igg :7328 ggg gig ggg ?gg ?(258 Note 4. Nozzle set for greasing (recommended) (see P.34
for detail)
(mm/sec) [Speed setting] - 90% | 75% | 60% | 50% | 45% | 40% Part number: KFU-M3861-00

(&

0
o,
(]
3
(=]
o
o
—
oo
P
(¥g)]

5 I



@ Motor-less Single Axis Actuator

M Ordering method

LBASOS N - [Caution]

This system is provided as mechanical actuator unit and not including any

| Model [ Lead designation Shape [T - adopters or electric components. Motor, driver and other components required for
50 to 800
(50 mm pitch)

[20: 20 mm 'S: Straight Y- Y specification (see below) installation are user's "eSP?nSibimY- .

10: 10 mm |A:Bending | |P: P specification (see below) Refer to user's manual for installation details. Refer to your motor manual for

5: 5 mm tuning or adjustment. Vibration or resonance from actuator will affect service life of
2:2 mm actuator.

The product performance may not be satisfied depending on the compatible motor.
For special parts for motor installation, install and adjust on your side.

H Specifications H Allowable overhang Mot Il Adaptable Servo Motor

Adaptable motor 100 W A ... |Flange size | []40
P Specification
Repeatability Note! +/-0.01 mm Wattage 100 W
@ Deceleration Shifting position ball screw ¢ 12 8 c A B Cc Note. Motor models marked with *
@, mechanism (C7 class) c A may not be 100W, but can be
s Stroke 50 mm to 800 mm (50 mm pitch) LBAS05-20 installed.
i Note 2. -
g ?’3":;3::‘,:&‘;9“)‘ s | o3 | a3 Horizontal i ion _wntmm  Wall installation  (nit:mm)  Verticalinstallation wnitemy ~ MOWOT T e T )
@ A B [ A B C A o] i
Balllscrew lead 20mm|{10mm| 5mm | 2 mm 2kg| 549 324| 272 2kg| 272| 324| 549 1kg| 544 544 \E(?::tl:iacwa SGMJV-01
' g‘:"lg‘gg'},‘m Horizontal| 12kg | 24 kg | 40kg | 45kg 8kg| 155| 73| 65  8kg| 65 73| 155  2kg| 276] 276 Corp. SGM7J-01
> (oryequivalent) Vertical| 3kg | 6kg | 12kg | 15kg 12kg| 117 46 42 12kg 42 46| 117 3kg| 195 195 Ezgnce gx-ZDDO:)?O
w Ratedithnus G 84N | 169N | 339N | 854N LBAS05-10 e HF-
(or ?quwal_e"t) . Horizontal installation (unitmm) Wall installation  (unit:mm) Vertical installation (unit:mm) ggi‘fﬁfm %
Maximum dimensions of W 54 mm x H 60 mm A B C A B Cc A [ Corp. [HK-KT13
cross section of main unit 5kg| 769 178] 213 5kg| 213] 178] 769 2kg| 443] 443 omron RBEM-K10030
Svera" 'ebngfh 5 430T 22320-5 e 15kg| 314 53| 64 _ 15kg| 64| 53] 314 _ 4kg| 218 218 Electronics [RaGN-1M10030"
sing ambient to40°C, 35to o
temperature and humidity (non-condensing) 24kg] 216] 29] 36 _ 24kg| 36| 29| 216 Skg| 142] 142 SZ:{? R2 [JA04010
P [ o LBAS05-5 [Tamagawa |Tona10a
Note 1. Positioning repeatability in one direction. i ¥ . " . . - _— . " Y |Tamagawa |rqp3q04
Note 2. When a moving distance is short and depending Horizontal 1 (unitmm)  Wall installation  (unit: mm)  Vertical (Unit: mm) [S)e\ll;l
on an operation condition, it may not reach the A B c A B c A c Ele ? .. |ECMA-C10401
maximum speed. 10kg| 921 97| 131 10kg| 131 97| 921 3kg| 345 345 ectronics |
Note 3. The rated thrust and maximum transferable weight 25kg| 459 33| 45  25kg| 45| 33| 459 8kg| 124] 124 Fanuc Corp. ﬁslaioiﬁomog
B o rassuming the attached motor outputs a0kg] 436] 17| 23 _aokg| 23 17| 436 _ 12kg| 79| 79 Kingservo et TG
Note. See P.11 for acceleration/deceleration and inertia LBAS05-2 Siomens 1FK2102-1AG
moment. Horizontal installation (unitmm) Wall installation  (unit:mm) Vertical installation (unit:mm) 1FL6024-2AF
H A A B (o] A B (o] A Cc Schneider |BCH2MBO013
n Statlc Ioadlng moment 15kg| 2685 78| 109 15kg| 109 78| 2685 5kg| 254| 254 Beckhoff  |AM3012C *
30kg| 1833] 34 47  30kg| 47| 34| 1833  1okg| 122] 122 pllen ,  |TLy-At30°
- ot 45kg| 2621] 19| 27 _ 45kg| 27| 19] 2621 _15kg] O 0O o [panasoic |MSMDO1
m Note. Distance from center of slider top to center of gravity of object being carried at Corp. MSMFO1
[MR) D 59 63 103 a guide service life of 10,000 km.
Note. Service life is calculated for 500 mm stroke models.
e ; N
LBASOQ5 Straight type (S)
La
141 Effective stroke (79.5)
12 (Note 1)
73.5 (Note 1) 65 j (Lo) 57
H Iy 2g
| 2 o888 BN}
' g i1 o o~ !
| e Y invsz
: T oo c To ) & / mj@ 35
| | —— a0 el & -
i N
: © ‘ & ! ) ! )
| T Blokierk S e i Detailed drawing C ~ Detailed drawing D
i 4-M5x0.8 Depth 11
: Motor [P] type | 2m2s04sDepne 2-¢3H7 (*§°'°) Depth 6
I . N v .
: (same for opposing side) (52.5)
[ 50
A—== 34
@
2Co 4ol o
i &N\ T %; T
~
AR N[ ~ 3 |
e S G o\
4-M4x0.7 Depth 10 Grounding terminal (M4)
Motor Y] type (same for opposing side) Qa-M5x0.8 Depth 13 ¢4.4 through from rear surface (See cross-section B-B) 8
95.5 Qbx100 (Lb) <
(25) g" (45.5 table knock hole position) B §
16.35 $°| 88 2 e
~|%%
ju 44— 1= — —t—— — - — —1 il WO y
r 35 ‘ ==Y
=] | Y Y N
T =B\ ¢ )
b | 100+/-0.02 Le -
Cross-section A-A 2-¢5H7 (“§°"?) Depth 7 (*)
Cross-section B-B
Note 1. St iti determined by th hanical
Effective stroke | 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 = sioppercatbotnands. oo
La 270.5/320.5|370.5|420.5|470.5|520.5|570.5|620.5/670.5|720.5/770.5|820.5|870.5|920.5|970.5|1020.5 Note 2. Please perform installation and adjustment on the
Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 special parts for motor installation by the customer.
Lc 25 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 For detail, refer to the manual.
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 Note 3. For the installation through hole, the length under
head << 30 mm or more>> is recommended for the
— Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 hex socket head bolts <M4 x 0.7>. In the installation
Weight (kg) 16 | 1.8 | 1.9 | 21 | 24 | 25 | 256 | 27 | 28 | 2.9 | 31 | 33 | 3.4 | 36 | 3.7 | 41 1ap hole, the length under head <<thickness of stand
Lead 20 1333 1133 | 933 | 799 | 666 | 599 +10 mm or less>> is recommended for the hex socket
Maximum | Lead 10 666 566 | 466 | 399 | 333 | 299 head bolts <M5 x 0.8> used to install the main unit.
speed Lead 5 333 283 | 233 | 199 | 166 | 149 Note 4. Nozzle set for greasing (recommended) (see P.34
mm/sec; for detail)
( ) Spt:(iascelttiw 133 81;‘?6 7%:3/0 63)9% 5%62/0 4‘?5?/n Part number: KFU-M3861-00

\-




LBAS05

e : A\
LBASO05 Bending type (A)
[P | o
1 =] : - 1
= | | |
[ ! ® ' Lc) 5.7
: === . S ¢ H
R R = I N-IEE
[N © ' =| H )
| § 5 | I | 5 I \
[ : ' ] 35
i | ! & :
i L | l_ ) E°_tf°2 ?S‘E"_’f‘ﬂt_ | Detailed drawing C Detailed drawing D
H Left attachment : La
[, — 120.5 Effective stroke (79.5)
12 (Note 1) e
53(Note 1) 65 |¢ 28 So
= PN g8
¥ & gl 2
E 4 &
— &
§ EIOESGES: © 7o T
1_ N 1 " [ ] ‘@&
il ! 8
=l B S to i Cross-section A-A
= 4-M5x0.8 Depth 11
< 2-p3H7 (*§*°) Depth 6 .
2-M2.5x0.45 Depth 6 (same f ing sid GITLEIDPOE Right atac
.5%0. pth 6 (same for opposing side) (52.5)
Greasing hole (Note 4)
(115) 50
435 5 % 3 ﬁ“
— 1 & —
- © @ 8
N [ ST | |
Grounding terminal (M4) Qa-M5x0.8 Depth 13 $4.4 through from rear surface (See cross-section B-B)
(same for opposing side) 1)
Qbx100 (Lb) =
(45.5 table knock hole position) E
= =—B 8
id ¥
- - 7—49——7—4{\——7—7—7—7——F—E»2
L ~
| & & o
<=—B\C 7()
2-05H7 (*3°"2) Depth 7 (*) s D
100+/-0.02 L [ 43
Cross-section B-B
Note 1. Stop positions are determined by the mechanical
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 stoppers at both ends.
La 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 Note 2. Please perform installation and adjustment on the
Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 special pans for motor installation by the customer.
Lc 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 For detail, refer to the manual.
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 Note 3. Eor;he |rgs(§allat|on through_hole, the Ien%thdufndi:
ead << mm or more>> is recommended for the
- Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 hex socket head bolts <M4 x 0.7>. In the installation
Weight (kg) 1.7 | 1.8 2 22 |24 | 26 | 26 | 28|29 3 32 133135136381 41 tap hole, the length under head <<thickness of stand
Lead 20 1333 1133 | 933 | 799 | 666 | 599 +10 mm or less>> is recommended for the hex socket
Maximum | Lead 10 666 566 | 466 | 399 | 333 | 299 head bolts <M5 x 0.8> used to install the main unit.
Note 4. Nozzle set for greasing (recommended) (see P.34
speed Lead 5 333 283 | 233 | 199 | 166 | 149 for detail
(mm/sec) | Lead 2 133 13| 93 | 79 | 66 | 59 :
L Speed sem — 85% | 70% | 60% | 50% | 45% Part number: KFU-M3861-00 )

0
o,
(]
3
(=]
o
o
—
oo
P
(¥g)]

7 .



@ Motor-less Single Axis Actuator

M Ordering method

LBASOB N - [Caution]

This system is provided as mechanical actuator unit and not including any

| Modet [ Lead designation Shape [T - adopters or electric components. Motor, driver and other components required for
50 to 1100
(50 mm pitch)

[20: 20 mm S: Straight | |Y: Y specification (see below installation are user’s responsibility. )
10: 10 mm |A:Bending | |P: P specification (see below) Refer to user's manual for installation details. Refer to your motor manual for
5:5 mm : K specification (see below) tuning or adjustment. Vibration or resonance from actuator will affect service life of

actuator.
The product performance may not be satisfied depending on the compatible motor.
For special parts for motor installation, install and adjust on your side.

H Specifications H Allowable overhang Mot Il Adaptable Servo Motor

Adaptable motor 200 W A ... |Flange size | []60
.. Specification
Repeatability Note ! +/-0.01 mm Wattage 200 W
o Deceleration Shifting position ball screw ¢ 16 c A B Cc
& mechanism (C7 class) B Cc A Motor 1.
A Stroke 50 mm to 1100 mm (50 mm pitch) pecfica el Model
§ Maximum speed "°te2 1200 600 300 LBAS08-20 Yasukawa |SGMJV-02
= (or equivalent) mm/sec | mm/sec | mm/sec  Horizontal installation wnitmm) Wall installation  (unit:mm) Vertical i ion (Unit: mm) Elgrcptnc SGM7J-02
Ball screw lead 20mm | 10 mm 5mm A B c A B c A c Keyence |SV 1020
| Maximum Horizontal| 40 kg 80 kg 100 kg 15kg| 356 131 146 15kg 146 131 356 3kg| 645 645 Corp. SV2[]020
payload Nete? - o [HF-KP23
2 e TR Ol i SR T .
Ok Ok 8k pomm e
w 5;‘23:;:,‘:}2;:;“ 174N | 341N | 683N 2 g 9 v [Com  [HKKT23
Sanyo
Maximum dimensions of W 82 mm x H 78 mm LBAS08-10 Den{i R2[JA06020
cross section of main unit Horizontal i ion (Unitmm) Wall installation  (Unit: mm)  Vertical i ion (Unit: mm) T: TSM3202
Overall length ST +278 mm A B C A B C A [ [S)e‘lkiii
Using ambient . 01040 °C, 35 to 80 %RH 30kg| 466 83| 120 30kg| 120 83| 466 5kg| 564 564 Eliic?ronics ECMA-C10602
temperature and humidity (non-condensing) 50ka| 342] 44] 65  50kg| 65 44| 342  10kg| 284] 284 Siemens | 1FL6032-2AF
Note 1. Positioning repeatability in one direction. Schneider |BCH2LD023
Note 2. When a moving distance is short and depending 80kg| 228 22 34 80kg 34 22| 228 20kg 142 142 Omron R88M-K20030
on an operation condition, it may not reach the LBAS08-5 Electronics |R88M-1M20030
maximum speed. P — IMSMDO02
Note 3. The rated thrust and maximum transferable weight ~ Horizontal i ion (unitmm)  Wall installation  (unit: mm)  Vertical i ion (Unit: mm) Panasonic |MSMDO2
are values assuming the attached motor outputs A B T A B T A C Corp. ’r\(ASSI\’;A:gsLI
the rated torque. Ki
Note. See P.13 for acceleration/deceleration and inertia 30kg| 1612 95 153 30kg| 153 95| 1612 10kg| 325 325 K n9seno_[KSMA02LG
moment. 50kg| 1041 52 83 50kg| 83| 52| 1041  20kg| 163] 163
. . 80kg| 719 27 44 80kg 44 27| 719 30kg| 109, 109
M Static loading moment
g 100kg| 608 19 31 100kg 31 19| 608

Unit: Nem) Note. Distance from center of slider top to center of gravity of object being carried at
- a guide service life of 10,000 km.
MY, m MR Note. Service life is calculated for 600 mm stroke models.
[VR] D 221 309 343

e : A\
LBASO08 Straight type (S)
! La
! | 167 Effective stroke (111)
! H 89.5 (Note 1) 90 [ge2T
| | 75 8283 33.5 (Note 1) 57
: : Q=+ Lo, , ¢ -
| | o[2]e ) ) | i ’il’: m‘ N
’ - R O R 1 ey
i T : !
! Cross-section E-E : i TR | _ i 9 Qg,b ©
i 4-M4x0.7 Depth 11 | 2 2 - L . ) - )
H Motor [P] type : 4-M6x1.0 Depth 13 Detailed drawing C  Detailed drawing D
e e e — — +0012
e 2-M3x0.5 Depth 5 2-$5H7 ("0”" ) Depth 8
(30 2- 5 (same for opposing side) 1) I
187 - 88 774
e E g o | 524
ol &
po——
0| 1
o R

Grounding terminal (M4) (same for opposing side)
Qa-M6x1.0 Depth 15 §5.4 through from rear surface (See cross-section B-B)

8
e 98 Qbx100 (Lb) =
i = — +
i (30) g . (69 table knock hole position) s § Reference surface
: 18.7 — §§ LT 3 T 3 £2
| J% 3 —}H - -Y— ¢ -4 K
H | © RN % 8 _
| = = © 3 & & & =
: 100+-0.02 Le =B \C 9 |
l - 2-$5H7 (*§°"2 ) Depth 9 (* 375
i Cross-section F-F - ("0"") Depth 9 () 59
. Cross-section B-B
Note 1. Stop positions are determined by the mechanical
Effective stroke | 50 [100[150][200]250[300[350]400]450[500[550][600[650] 700 750 | 800 [ 850 | 900 [ 950 [1000[1050]1100 stoppers at both ends.
La 328|378|428|478|528|578|628|678|728|778|828|878|928| 978 1028]1078| 1128] 1178]1228]1278] 13281378 Note 2. Please perform installation and adjustment on
Lb 50 [100] 50 [100] 50 |100] 50 |100] 50 |100] 50 [100] 50 [100| 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 the special parts for motor installation by the
customer. For detail, refer to the manual.
Lc 50 [100[150200|250|300/350(400[450[500(550|600(650| 700 | 750 | 800 | 850 [ 900 [ 950 [1000]1050[1100 Note 3. For the installation through hole, the length under
Qa 66|88 |1]10|12|12|14|14 16|16 |18 |18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 head << 45 mm or more>> is recommended
Qb 1112121334455 ]6]6[7]7 8 8 9 9 00110 11 [ 11 for the hex socket head bolts <M5 x 0.8>. In
Weight (kg) 3.7 |4.1]4.5(4.8|5.2|5.5|5.8|6.2]6.5|6.8|7.2|7.5(7.9]8.2| 8.5 | 8.8 9.2| 9.4 | 9.8 [10.1]10.510.9 O Lo ol he lengin under fhead
) Lead 20 1200 1020] 900 | 780 | 660 | 600 | 540 | 480 | 420 | 360 recommended for the hex socket head bolts <M6
Mg*';“eg"‘ Lead 10 600 510|450 | 390 | 330 | 300 | 270 | 240 | 210 | 180 % 1.0> used to install the main unit.
ety Lead 5 300 255 225 | 195 | 165 | 150 | 135 | 120 | 105 | 90 Nete4 g‘;fff'zfjé‘f:ij)g'eas'”g (recommended) (see
\‘ | Speed setting — 85%]| 75% | 65% | 55% |50% | 45% | 40% | 35% | 30% Part number: KFU-M3861-00 )




LBAS08

Ve T
LBAS08 Bending type (A)
-t T — T — T — "/, T T, T T T T ‘\‘ :7 77777777777777777
| ]
, 1 950
1 | ‘ B (Lo). 57
5 : ' < 3 @
! < | | ===qpcD.™® 2 3o o
i : 1 ” Y
: \ 5 - 35
: ‘ A < i
‘ Bottom attachment : ‘ o
Lo remeEr o _ Doftom attachment | : 4-M4x0.7 Depth 12 Detailed drawing C Detailed drawing D
,,,,,,,,,,,,,,,,,,,,,,, | Motor[Kltype
| ' La
i \ 153.5 Effective stroke (111) 335 (Note 1)
) ‘ 76 (Note 1) 90
‘ ! - 75 |Sed
i | 5148
i 3@6 ‘ 8<+ 52
[ | 3 e[Ele 0 S o1 %?;
} ~E Cross-section E-E: ~| | _ ,7%7,7,7,7,7,7,+,J <
; 4-M4x0.7 Depth 12 | | | )
} Motor [P] type B oEle s s C—— Cross-section A-A
el e 4-M6x1.0 Depth 13
2-$5H7 ("§°"?) Depth 8 Right attachment 1)
2-M3x0.5 Depth 5 (same for opposing side) 774
" - 950
Greasing hole (Note 4) (135) o 524 >
l eﬁ p_G.D-N
o~ 0|
8 p— ~ N2/
=A
Grounding terminal (M4) Qa-M6x1.0 Depth 15 5.4 through from rear surface (See cross-section B-B !
(same for opposing side) X 0 ¢ 9 ( ) S| Motor [Y] type 4-M5x0.8 Depth 12
845 Qbx100 (Lb) S
™ ¥
W(69 table knock hole position) s 'S’: Reference surface
‘ * * 3
T
H- o — - — 4 - - -4 x
X RN @ <
I Y + Y N
=B 9(*
2-95H7 (*§2) Depth 9 (') c Ol | °
1004/-0.02 Lc 59
Cross-section B-B
Note 1. Stop po;itions are determined by the
Effective stroke | 50 [100]150]200]250]300]350]400]450500[550]600]650(700] 750 | 800 ] 850 | 900 950 [1000[1050[1100  note 2. Piasan pertor metaiintian aed -
La 314.5[364.5(414.5|464.5(514.5/564.5/614.5/664.5|714.5[764.5)814.5/864.5|914.5(964.5| 1014.5 | 1064.5| 1114.5| 1164.5| 1214.5| 1264.5] 1314.5|1364.5 adjustment on the special parts for motor
Lb 50 |100] 50 |100| 50 [100| 50 [100] 50 [100| 50 [ 100 50 |100| 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 installation by the customer. For datall
Lc 50 [100]150|200]250| 300|350 400|450 500|550 600|650 700 | 750 | 800 | 850 | 900 | 950 [1000[1050/1100  Note 3. For the installation through hole, the
Qa 6 168 1010|1212 [14[14 |16 |16 [ 18 [ 18 [ 20 | 20 [ 22 | 22 | 24 | 24 | 26 | 26 1gjg‘cf;;"nfg;g:g?oﬁrf;g;ﬂsgfc Wi
Qb 1]11]2 3]/3|4|4a]5[5]|6|6]7[7[8]8]9]910]10]11]|N" bolts <M5 x 0.8>. In the installation tap
Weight (kg) | 4.1|45/4.9]52|56|59/62]66/69]|72]76|79]83|86]89]92]96]9810.2/10510.9/11.3 hole, the length under head <<thickness of
stand + mm or less>> is recommende:
v Lead 20 1200 1020] 900 | 780 | 660 | 600 | 540 | 480 | 420 | 360 S I O e ended
)umgm Lead 10 600 510450390 | 330|300 | 270|240 | 210 | 180 used to install the main unit.
el | Lead 5 300 255|225 195 165 | 150 | 135 | 120 [ 105 | 90 Note 4. Nozzle set for greasing (recommende)
P Speed setting - 85%| 75% | 65% | 55% | 50% | 45% | 40% | 35% | 30% {see P34 for detal) 2861.00 )

0
o,
(]
3
(=]
o
o
—
oo
P
(¥g)]

9 I



svail

—_— T
S 5
o 2
s
=3
o 5
ES
=g
S s
3 a
o =
s F
=S

s 10

Acceleration/Deceleration and Inertia Moment (Basic model)

B Acceleration/Deceleration
LBAS04

BAS04 BAS04 BAS04 BAS04
Model [PREnE A it
Payload Accelerati_on/ Accelerati_onl Accelerati_on/ Accelerati_on/
Deceleration | Deceleration | Deceleration | Deceleration
[kal [mis?] [mis? st s
0 241 241 4.2 3.6
1 1.91 241 3.84 2.4
2 1.7 1.64 2.99 1.8
3 1.53 1.34 2.45
4 1.4 1.14 2.07
5 1.28 0.99 18
6 118 1.58
7 1.1 1.42
8 1.02 1.28
9 0.96 117
10 0.9 1.08
" 0.85 1
12 0.81 0.93
13 0.77
14 0.73
15 0.7
16 0.67
17 0.64
18 0.61
19 0.59
20 0.57

Payload — Acceleration/Deceleration Graph (Estimate)

LBAS04-6
Horizontal/ Vertical

Wallhanging | _, 25 _ 25
kY k
E \ E
c 2 \ c 2 \
k<] k<]
E s LN S 15 N
© \ I ~
& 3 \
e 1 Q 1 S~
c TN c
k<] T— k<]
© . S
& 05 & 05
[ [
Q Q
Q Q
< 0 < 0

0 2 4 6 8 10 12 14 16 18 20 22 0 1 2 3 4 5 6
Payload [kg] Payload [kg]
LBAS04-12
Horizontal/ Vertical

Wallhanging | _, 5 _ 4
& &
£ 4 N £ \
S 5§ 3
g g
[} [}
E E 2 \
ol ol o~
e 2 e
S \\ 5
s T 1
3 1 S— 3
[53 [
Q Q
Q Q
< 0 < 9

0 2 4 6 8 10 12 14 0 1 2 3
Payload [kg] Payload [kg]

H Inertia Moment
LBAS04

[kg-m*<107] Effective stroke [mm]
Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
LBAS04-6 0.060 | 0.063 | 0.067 | 0.071 | 0.075 | 0.079 | 0.083 | 0.087 | 0.090 | 0.094 | 0.098 | 0.102 | 0.106 | 0.110 | 0.114 | 0.117

LBAS04-12 0.069 | 0.072 | 0.076 | 0.080 | 0.084 | 0.088 | 0.092 | 0.096 | 0.099 | 0.103 | 0.107 | 0.111 | 0.115 | 0.119 | 0.123 | 0.126




Acceleration/Deceleration and Inertia Moment (Basic model)

B Acceleration/Deceleration
LBAS05

LBAS05 LBAS05 LBAS05 LBAS05 LBAS05 LBAS05 LBAS05 LBAS05
Model -2 -2 -5 -5 -10 -10 -20 -20
Horizontal/ | Vertical | Horizontal/ | Vertical | Horizontal/ | Vertical | Horizontal/ [ Vertical
Wall hanging Wall hanging Wall hanging Wall hanging
Payload Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelerati_onl Accelerati_onl Accelerati_on/ Accelerati_on/ Accelerati_on/
Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration
tka] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?]
0 1.3 1 3.04 3.34 4.64 4.86 7.44 7.44
1 1.27 0.95 2.97 3.18 4.44 4.56 7.44 6.99
2 1.24 0.91 2.91 3.03 4.25 4.3 7.44 5.65
3 1.22 0.86 2.85 2.88 4.07 4.06 7.44 3.42
4 1.19 0.82 2.79 2.73 3.9 3.85 7.44
5 117 0.77 2.73 2.58 3.73 3.66 7.44
6 1.14 0.73 2.67 2.43 3.57 3.49 6.64
7 1.11 0.68 2.61 2.28 3.41 6
8 1.09 0.64 2.55 213 3.27 5.47
9 1.06 0.59 2.49 1.98 3.12 5.02
10 1.04 0.55 2.43 1.83 2.99 4.65
1 1.01 0.5 2.37 1.68 2.86 4.32
12 0.98 0.46 2.31 1.53 2.74 4.04
13 0.96 0.41 2.24 2.62
14 0.93 0.37 2.18 2.51
15 0.91 0.32 212 241
16 0.88 2.06 2.31
17 0.85 2 2.22
18 0.83 1.94 2.14
19 0.8 1.88 2.06
20 0.78 1.82 1.99
21 0.75 1.76 1.93
22 0.72 17 1.87
23 0.7 1.64 1.82
24 0.67 1.58 1.77
25 0.65 1.52 —
26 0.62 1.45 oo
27 0.59 1.39
28 0.57 1.33 a
29 0.54 1.27
30 0.52 1.21 ==
31 0.49 1.15 > 3
32 0.46 1.09 = 3
33 0.44 1.03 )
34 0.41 0.97 =9
35 0.39 0.91 S e
36 0.36 0.85 =
37 0.33 0.79 3 g
38 0.31 0.72
39 0.28 0.66
40 0.26 0.6
xl 0.23
42 0.2
43 0.18
44 0.15
45 0.13

B Payload — Acceleration/Deceleration Graph (Estimate)

LBAS05-2

Horizontal/ Vertical
Wall hanging 2 2

1.5

05 < 05 ~—_
N

0
0 5 10 15 20 25 30 35 40 45 50 0 2 4 6 8 10 12 14 16
Payload [kg] Payload [kg]

Acceleration/Deceleration [m/s?]
Acceleration/Deceleration [m/s?]

LBASO05-5

Horizontal/ Vertical
Wall hanging 6 6

1 \\\
T~

Acceleration/Deceleration [m/s?]
w
Acceleration/Deceleration [m/s?]
w

0
0 5 10 15 20 25 30 35 40 45 0123 456 7 8 910111213
Payload [kg] Payload [kg]

11 .



svail

—_— T
S 5
o 2
s
=3
o 5
ES
=g
S s
3 a
o =
s F
=S

. 12

Acceleration/Deceleration and Inertia Moment (Basic model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LBAS05-10
Horizontal/ Vertical

Wall hanging -7 7
R} R}
E 6 E ¢
c c
'g 5 2 5 [—
© ©
% . \\ % . T—
(5] (5] T ——
g 8 ™~ 8 3
g ~ g
§ 2 § 2
[0} [}
© 1 © 1
<3 <3
< < 9

0 5 10 15 20 25 30 0 1 3 4 5
Payload [kg] Payload [kg]
LBAS05-20
Horizontal/ Vertical

Wall hanging . 8 _ 8
k4 k4
£’ N e’
s 8 s © ~
8 5 8 5 AN
Q< Q<
g, ™~ g, \
oy oy \
=} =}
s 3 s 3
2 S
T 2 g 2
K] K]
g g
< <

0 0
0123 456 7 8 910111213 0 2 3
Payload [kg] Payload [kg]

[kg-m>x10™] Effective stroke [mm]

Model 50 100 150 200 | 250 300 350 | 400 | 450 | 500 | 550 | 600 | 650 700 750 800
LBAS05-2 0.082|0.090 | 0.098 | 0.106 | 0.114 | 0.122 | 0.130 | 0.138 | 0.146 | 0.154 | 0.162 | 0.170 | 0.178 | 0.186 | 0.194 | 0.202
LBAS05-5 0.085|0.093| 0.101 | 0.109 | 0.117 | 0.125 | 0.133 | 0.141 | 0.149 | 0.157 | 0.165 | 0.173 | 0.181 | 0.189 | 0.197 | 0.205
LBAS05-10 0.097 | 0.105 | 0.113 | 0.121 | 0.129 | 0.137 | 0.145 | 0.153 | 0.161 | 0.169 | 0.177 | 0.185 | 0.193 | 0.201 | 0.209 | 0.217
LBAS05-20 0.145 | 0.153 | 0.161 | 0.169 | 0.177 | 0.185 | 0.193 | 0.201 | 0.209 | 0.217 | 0.224 | 0.232 | 0.240 | 0.248 | 0.256 | 0.264

Inertia Moment




Acceleration/Deceleration and Inertia Moment (Basic model)

B Acceleration/Deceleration

BAS08 BASO BASO BASO B 0 BASO B 0 BASO BASO BASO BASO BASO
MOdeI 0 a 0 ll a y o ll a ? MOdeI 0 a 0 l. y 0 t. a y
Payload Accelerati_onl Accelerati_onl Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelerati_on/ Payload Accelerati_on/ Accelerati_on/ Accelerati_onl Accelerati_on/ Accelerati_on/ Accelerati_on/
Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration

kgl [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] kel [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?]
0 1.65 1.65 6.09 4.79 8.51 8.5 90 0.67
1 1.63 1.62 5.97 4.54 8.2 7.39 91 0.67
2 1.62 1.59 5.86 4.31 7.9 6.42 92 0.66
3 1.6 1.57 5.74 4.09 7.61 5.59 93 0.65
4 1.59 1.54 5.63 3.88 7.33 4.89 94 0.64
5 1.58 1.51 5.52 3.68 7.05 4.33 95 0.63
6 1.56 1.49 5.42 3.5 6.77 3.91 96 0.63
7 1.55 1.46 5.31 3.32 6.51 3.62 97 0.62
8 1.54 1.44 5.21 3.16 6.24 3.46 98 0.61
9 1.52 1.41 51 3.01 5.99 99 0.6
10 1.51 1.38 5 2.87 5.74 100 0.6
1 1.5 1.36 4.9 2.74 5.5

12 1.49 1.33 4.8 2.62 5.26

13 1.47 1.3 4.7 2.52 5.03

14 1.46 1.28 4.61 2.42 4.8

15 1.45 1.25 4.51 2.34 4.58

16 1.43 1.23 4.42 2.27 4.37

17 1.42 1.2 4.33 2.21 4.16

18 1.41 117 4.24 2.16 3.96

19 1.4 115 4.15 213 3.76

20 1.38 1.12 4.06 241 3.57

21 1.37 1.09 3.98 3.38

22 1.36 1.07 3.89 3.21

23 1.35 1.04 3.81 3.03

24 1.34 1.02 3.73 2.87

25 1.32 0.99 3.65 2.7

26 1.31 0.96 3.57 2.55

27 1.3 0.94 3.49 2.4

28 1.29 0.91 3.42 2.26

29 1.28 0.88 3.34 213

30 1.26 0.86 3.27 1.99

31 1.25 3.2 1.87

32 1.24 3.13 1.75

33 1.23 3.06 1.64

34 1.22 2.99 1.53

35 1.21 2.93 1.43

36 119 2.86 1.34

37 1.18 2.8 1.25

38 117 2.74 1.16

39 116 2.68 1.09

40 1.15 2.62 1.02

M 1.14 2.57

42 113 2.51

43 1.12 2.46

44 1.1 2.41

45 1.09 2.36

46 1.08 2.31

47 1.07 2.26

48 1.06 2.21

49 1.05 217

50 1.04 212

51 1.03 2.08

52 1.02 2.04

53 1.01 2

54 1 1.96

55 0.99 1.93

56 0.98 1.89

57 0.97 1.86

58 0.96 1.83

59 0.95 1.8

60 0.94 1.77

61 0.93 1.74

62 0.92 1.72

63 0.91 1.69

64 0.9 1.67

65 0.89 1.65

66 0.88 1.63

67 0.87 1.61

68 0.86 1.59

69 0.85 1.57

70 0.84 1.56

71 0.84 1.55

72 0.83 1.54

73 0.82 1.53

74 0.81 1.52

75 0.8 1.51

76 0.79 1.51

77 0.78 1.5

78 0.77 15

79 0.76 1.5

80 0.76 1.5

81 0.75

82 0.74

83 0.73

84 0.72

85 0.71

86 0.71

87 0.7

88 0.69

89 0.68

svdl

—
El=
® 2
23
=3
o g
s
gg
S s
El
o =
s g
=S

13 e



Acceleration/Deceleration and Inertia Moment (Basic model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LBASO08-5

Horizontal/ Vertical
Wall hanging 2 2

1.5 ~

0.5

0.5

Acceleration/Deceleration [m/s?]
Acceleration/Deceleration [m/s?]

0 10 20 30 40 50 60 70 80 90 100 110 0 5 10 15 20 25 30 35
Payload [kg] Payload [kg]

LBAS08-10

Horizontal/ Vertical
Wall hanging

w >~ 0o o N

Acceleration/Deceleration [m/s?]
/
Acceleration/Deceleration [m/s?]
N

0O 10 20 30 40 50 60 70 80 90 0 5 10 15 20 25
Payload [kg] Payload [kg]

svail

LBAS08-20

Horizontal/ Vertical
Wall hanging

O = N WHOO®N ® O O

—_—1
S 5
o 2
s
=3
o 5
ES
=g
S s
3 a
o =
s F
=S

o = N W H» O O N © ©

Acceleration/Deceleration [m/s?]
Acceleration/Deceleration [m/s?]

o
-
o

20 30 40 50 o 1t 2 3 4 5 6 7 8 9
Payload [kg] Payload [kg]

H Inertia Moment
LBAS08

[kg-m*x10™] Effective stroke [mm]
Model 50 100 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100
LBAS08-5 0.160 | 0.168 | 0.176 | 0.184 | 0.192 | 0.200 | 0.208 | 0.216 | 0.224 | 0.232 | 0.240 | 0.248 | 0.256 | 0.263 | 0.271 | 0.279 | 0.287 | 0.295 | 0.303 | 0.311 | 0.319 | 0.327

LBAS08-10 0.190 | 0.198 | 0.206 | 0.214 | 0.222 | 0.230 | 0.238 | 0.246 | 0.254 | 0.261 | 0.269 | 0.277 | 0.285 | 0.293 | 0.301 | 0.309 | 0.317 | 0.325 | 0.333 | 0.341 | 0.349 | 0.357
LBAS08-20 0.309|0.317 | 0.325 | 0.333 | 0.341 | 0.349 | 0.357 | 0.365 | 0.373 | 0.381 | 0.389 | 0.397 | 0.405 | 0.413 | 0.421 | 0.429 | 0.437 | 0.445 | 0.453 | 0.461 | 0.469 | 0.477

14



Motor-less Single Axis Actuator

[® Ordering method

LGXS05 -

I R - [P -
20: 20 mm 50 to 800
10: 10 mm (50 mm pitch)

5: 5 mm

B Specifications

[Caution]
This system is provided as mechanical actuator unit and not including any adopters or electric components.
Motor, driver and other components required for installation are user’s responsibility.

Refer to user's manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
or resonance from actuator will affect service life of actuator.
The product performance may not be satisfied depending on the compatible motor.

H Allowable overhang "t

M Static loading moment

Adaptable motor 50 W A
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 12 c A B c
mechanism (C5 class) B c A
Stroke 50 mm to 800 mm (50 mm pitch) m w
Maximum speed "« 1333 666 333 LGXS05-20 (Unit: N-m)
(onsquivalent) mmisec | mmisec | mmisec Horizontal installation (unit:mm) Wall installation  (unit:mm) Vertical i (Unit; mm) My ‘ MP ‘ MR
Ball screw lead 20 mm 10 mm 5mm A B T A B T A c 24 ‘ 27 ‘ 23
Maximum Horizontal| 5 kg 8kg 13 kg 2kg| 900| 270/ 351 2kg| 324 234 812 1kg| 454| 454
e ; M Adaptable Servo Mot
(or equivalent)| Vertical| 2kg 4kg 8kg skg| 583] 112] 159  skg| 119 76| 427  2kg| 218] 218 aptable servo iiotor
Rated thrust N3 i
(or equivalent) 41N 69N 138N LGXS05-10 Specification Flange size D4V(\)I
Maximum dimensions of : i ctallati it f : it: ical i it Wattage 50
: . . W 48 mm x H 65 mm Horizontal tion (unitmm) Wall installation  (unit:mm) Vertical (Unit: mm)
cross section of main unit Manufacturer Model
S ST 1315 mm 2k 2206 282 225 2k 285 §46 2287 1k ‘;32 332 SGMJV-A5
- cnows| SO CLASS 3 (1SO14644-1) 9 9 g Yasukawa |SGMJV-A5
Blaiee ofi Gl s or equivalent skg| 1368] 149] 246  5kg| 195] 113[ 1165 _ 2kg| 351 351 ElectricCorp. |SGM7J-A5
Intake air Notes 30 N£/min to 100 N£/min SV-[]005
8kg| 1038 90| 150 8k 95 54| 747 4k 160/ 160 (ovV-LIUYO
Using ambient 0to 40 °C, 35 to 80 %RH 4 2 = Keyence Corp. oo 5005
temperature and humidity (non-condensing) Note
Note 1. Positioni bility in one directi LGXS05-5 Mitsubishi  [HF-KP053™*
Note % W°hsétr']°;";%Jﬁ“’gegit;a'n"cg'i”s%ﬂ%rt';ic(}'ggben ding  Horizontalinstallation wnicwm ~ Wall installation _(onit mm) ~Vertcalnstalltion wnenm  Electric Corp. |HG-KR053 ™
on an operation condition, it may not reach the A B c A B c A c Note. To combine with the
maximum speed. X X 3kg| 4635 281 497 3kg| 439 245| 4401 4kg| 183] 183 conversion adapter
Note 3. The rated thrust and maximum transferable weight <GX-BEND-40>. the shi
are values assuming the attached motor outputs 8kg| 2211] 101] 179 8kg| 117 65| 1826 6kg| 111 111 plate_(t1) s ;eceésa?'; im
the rated torque. 13kg| 1599 59| 105 13k 42 24| 1006 8k 75 75 .
Note 4. When using in a clean environment, attach a suction g g g
air joint. The degree of cleanliness is the cleanliness Note. Distance from center of slider top to center of gravity of object being carried at -
level achieved when using at 1000 mm/sec or less. a guide service life of 10,000 km. Conversion Shim plate part
Note 5. The required suction amount will vary according Note. Service life is calculated for 600 mm stroke models adapter product number
to the operating conditions and operating ’ : model
environment. . . o GX-BEND-40 | KES-M2295-00
Note. See P.22 for acceleration/deceleration and inertia
moment.
( )
LGXS05
75 Effective stroke (56.5)
31.5 (Note 1) 13 (Note 1)
£y \1
oS A i
To I
o= 1o
% * T o1 ] J
Q 4-M5x0.8 Depth 10
2-$3H7 (*§*'°) Depth 5
R 6) Lb 48
2 g | S 81 gg
45 | Z| 8
S| E o > L
©| @ LY |l T T # iy )
| & i i S| I
w0 0|
N
3 | AL
t -
4-M4x0.7 Depth 8 ; ; 24
Coupling section M61.0 Depth 6 Motor installation block
(For installation of suction air joint) Qc-M5x0.8
Grounding terminal 2 95 Qax100 Qbx50 Depth6 (Note2) 8.5
(M4) (53.5 table knock hole position) 100 50 5.5
w|w
|6
leTe Y P o0 ool ot |
[©) b i e ie) ) |} —
Ry 2] )
v A Cross-section
+ =
$4HT (*3°"2) Depth 5 Ry Countersunk hole for Qc-M5
Lc ~a Refer to section A cross-section
100 50 (Note 3)
215 35 95 Qax100 Qbx50
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 1. Stop positions are determined by the mechanical
181.5]231.5|281.5/331.5(381.5|431.5|481.5(531.5|581.5|631.5(681.5/731.5|781.5|831.5|881.5/931.5 stoppers at both ends.
Lc 110 [ 110 [ 110 | 110 [ 370 [ 310 [ 310 [ 310 [ 310 [ 310 [ 610 [ 610 [ 610 | 610 | 610 [ 610  Note 2 When using the tap holes to mount the body, remove
Qa 0 ool ol 2121212122565 [565 ][5 ]5 the set screws first. )
ote 3. When using the countersunk holes (section A cross
Qb 0 2 3 0 1 2 3 4 5 0 1 2 3 4 5 section) to mount the body, remove the cap from the
_ Qc 2 3 4 5 4 5 6 7 8 9 7 8 9 10 1 12 inner side and then fix. Thé length under head of the
Weight (kg) 12 | 14 |15 1 17 119 | 20122 | 23| 25|26 128129 |31 ]32]34] 35 hex socket head bolts (M5 x 0.8) used must be 15 mm
Maximum __Lead 20 1333 1066 ] 933 | 800 | 666 or less.
speed Lead 10 666 532 | 466 | 400 | 333
pl Lead 5 333 266 | 233 | 200 | 166
(mm/sec) shced sefting - 80% | 70% | 60% | 50%

(&

=
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

15 I



Motor-less Single Axis Actuator

[® Ordering method

LGXSOSL - N [Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric components.

| Model  [Jiead designation i Motor, driver and other components required for installation are user’s responsibility.
fgf 125):]‘;" ?E?ot?niogitch) Refer to user's manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
5. 5 mm or resonance from actuator will affect service life of actuator.

The product performance may not be satisfied depending on the compatible motor.

M Specifications H Allowable overhang \°t¢ M Static loading moment

Adaptable motor 100 W A
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 12 c A B Cc
mechanism (C5 class) B C A [MR) D
Stroke 50 mm to 800 mm (50 mm pitch)
Maximum speed et 1333 666 333 LGXS05L-20 (Unit: N-m)
(or equivalent) mm/sec | mm/sec | mm/sec  Horizontal installation (unit.mm) Wall installation  (unit:mm)  Verticali fon (unit: mm) MY \ MP \ MR
Ball screw lead 20 mm 10 mm 5mm A B c A B c A [ 72 \ 72 \ 64
Maximum Horizontal| 12 kg 24 kg 32 kg 3kg| 1760, 560 427 3kg| 397, 488| 1599 1kg| 1490| 1490
B oaivalont)| Vertical| 3kg 6kg | 12kg 8kg| 739] 201| 154  skg| 107| 128] 528  2kg| 732 732 Adaptable Servo Motor
12k 611| 134| 105 12k 52 61/ 331 3ki 480/ 480 i
Rated thrust o3 84N | 169N | 339N 2 c 2 Specification |2nge size | 140
(or equivalent) 100 W
LGXS05L-10 Uai=gcH) 100
Maximum dimensions of W 48 mm x H 65 mm
cross section of main unit Horizontal installation (unitmm) Wall installation  (Unit: mm)  Vertical i ion (Unit: mm) Manufacturer Model
Overall length ST +161.5 mm A B c A B [ A [ Yasukawa SGMJV-01
Degree of cleanliness " ISO CLASS 3.(IS|O14644-1) 6kg| 2418 388/ 333 6kg| 277 316 2194 4kg| 554| 554  Electric Corp. |SGM7J-01
Intake air s 30 N/Z;” F’q““‘%gr‘;‘a/ . 12kg| 1400] 187| 161  12kg| 101] 115] 1086 6kg| 360] 360 K c SV-11010
ntake air Mo min to min eyence Corp. oo =~ —
Using ambient 010 40°C. 35 to 80 %RH 24kg| 875 86 74 24kg 12 14| 276 SV2-[] 01:8)@
temperature and humidity (non-condensing) LGXS05L-5 Mitsubishi HF-KP13
. L R . Electric Corp. |HG-KR13 "
Note ; msmomng T?Pegﬁatb'"ty in 0?19 C:'fei}'gn- gi Horizontal i 1 wnitmm)  Wall installation  (unit:mm) Verticali ion (unit: mm)
ote 2. When a moving distance is short and depending i i
on an operation condition, it may not reach the A B c A B c A c Note. To comb_lne V\gth :he
maximum speed. 10kg| 3144| 254| 225  10kg| 162 181 2817 5kg| 501 501 2%")‘(’68’;"3’53‘435 ‘:; ni
Note 3. The rated thrust and maximum transferable weight -BEND-40>, the shim
are values assuming the attached motor outputs 20kg| 1850] 120] 106 _ 20kg 42 47| 1282 10kg| 285 235 plate (t1) is necessary.
the rated torque. 32kg| 1560 70 62 32kg 0 0 0 12kg| 190 190
Note 4. When using in a clean environment, attach a suction X X N X X X
air joint. The degree of cleanliness is the cleanliness Note. Distance from center of slider top to center of gravity of object being carried at Conversion -
level achieved when using at 1000 mm/sec or less. a guide service life of 10,000 km. adapter product Shl?uprLagzrpart
Note 5. The required suction amount will vary according Note. Service life is calculated for 600 mm stroke models. model
gonbfi\;eog&e;stting conditions and operating GX-BEND-40 | KES-M2295-00
Note. See P.23 for acceleration/deceleration and inertia
moment.
=
s - A
E LGXS05L
[1-]
o 90 Effective stroke (71.5)
g 31.5 (Note 1) 65
% 25 13 (Note 1)
2 1]
I ] I —i & > & 7 1 O 1 ]
(3] e:8 T4 s 2 B
>< ¥ o || Ll
w s L S o4& o1 I o
< 8-M5x0.8 Depth 10
_ 2-3H7 (*§”"°) Depth 5
ks ©) Lb 48
25 ERE o 11 42
45 _| I [ 85 32
e S
22 i I I & rr ¥ 0 ‘
o
@ o) |
3 =
Coupling section 4’;/'“’;4:067[)0“;;“68 \Motor installation block 24|
) ) x1.0 Dey
Grounding terminal (For installaption of 25 20 Qax100 Qbx50 Qc-M5x0.8 Depth 6 (Note 2)
M4) suction air joint) 100 50 85
(68.5 table knock hole position) 55
w w
D w0
=
llele tols y o o oo el eyl
CRARS > *e o 9o ol —
w|R) A Cross-section
$4HT (*§?) Depth 5 100 §o§- 2 . 50 Countersunk hole for Qc-M5
Lo <o Refer to section A cross-section
Note 3
215 35 |20 Qax100 Qbx50 (ot
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 1. Stop positions are determined by the mechanical
211.5|261.5[311.5]361.5/411.5[461.5]511.5]561.5|611.5]661.5] 711.5[761.5(811.5|861.5[911.5|961.5 stoppers at both ends.
Lc 130 [ 130 [ 130 | 130 [ 330 | 330 [ 330 | 330 | 330 | 330 | 630 | 630 | 630 | 630 | 630 [ 630  Note2 When using the lap holes to mount the body, remove
Qa 1 1 1 1 3 3 3 3 3 3 6 6 6 6 6 6 >SS SCrews 1St )
Qb 0 1 2 3 0 1 2 3 4 5 0 1 2 3 4 5 ote 3. Whe_n using the countersunk holes (section A cross
Qc 3 2 5 5 5 3 7 8 9 10 8 9 10 1 1 13 section) to mount the body, remove the cap from the
- inner side and then fix. The length under head of the
Weight (kg) 14 115 [ 17 [ 18 | 20 |22 | 23 |25 |26 |28 | 29 |31 32343537 hex socket head bolts (M5 x 0.8) used must be 15 mm
Maximum | Lead 20 1333 1066 | 933 | 800 | 666 or less.
speed Lead 10 666 532 | 466 | 400 | 333
I Lead 5 333 266 | 233 | 200 | 166
\(""" 5€C) Speed setting - 80% | 70% | 60% | 50% )

Il 16



Motor-less Single Axis Actuator

[ Ordering method

LGXS07 | |
This system is provided as mechanical actuator unit and not including any adopters or electric components.
| Model [ Lead designation i Motor, driver and other components required for installation are user’s responsibility.
B0:30mm | 150 to 1100 Refer to user's manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
[20: 20 mm (50 mm pitch) ) . N
10: 10 mm or resonance from actuator will affect service life of actuator.
5:5 mm The product performance may not be satisfied depending on the compatible motor.
M Specifications H Allowable overhang "t M Static loading moment
Adaptable motor 100 W A
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 15 c A B Cc
mechanism (C5 class) B (o] A [MR) [vP)
Stroke 50 mm to 1100 mm (50 mm pitch)
Maximum speed?ce2 1800 | 1200 600 300 h?rixzig;lz;l:‘igstallatian (nitmm) ~ Wall installation  (unit: mm)  Vertical installation (Unit: mm) e
(or equivalent) mm/sec | mm/sec| mm/sec| mm/sec ﬁ'— — T A . ﬁ MY MP MR
Ball screw lead 30 mm |20 mm | 10 mm | 5 mm 2kg| 3084| 1512 1223 2kg| 1240| 1445| 2981 1kg| 2340| 2340 138 | 121 | 121
Maximum Horizontal| 10 kg | 25kg | 45kg | 85 kg 6kg| 1191] 502| 418 6kg| 393] 435 1063 2kg| 1160/ 1160
payload M3 : M Adaptable Servo Motor
{or equivalent)| Vertical| 2 kg 4kg 8kg | 16 kg 10kg| 957| 318 282 10kg| 245/ 251| 794 p
Rated thrust N3 LGXS07-20 ... .. |Flange size | (140
(or equivalent) 56N | 84N | 169N | 339N Horizontal installation _(unitmm) ~ Wall installation  (unit: mm) Vertical installation (Unit:mm) Specification Wattage 100 W
Maximum dimensions of W 70 mm x H 76.5 mm A B A B C A c
cross section of main unit . 10kg| 1331] 371| 358 10kg| 314| 305/ 1168 1kg| 3425 3425 Manufacturer Model
Overall length ST +202 mm 20kg| 1144| 187| 189 20kg| 132 120 812 2kg| 1705 1705 Yasukawa SGMJV-01
Degree of cleanliness Mo ISO CL/;rSeSqLaJiSII;Sr:t4644-1) 25kg| 1829| 169 182 25kg| 117|103 1249 4kg| 843 843  Electric Corp. [SGM7J-01
Intake air NS 30 N£/min to 115 N&/mi LGXS07-10 Ki C Sv-joto
ntake air min to min Horizontal installation _(unitmm) Wall installation  (unit: mm) Vertical installation (Unit: mm) eyence Corp. SvV2-[1010
Using ambient 0to 40 °C, 35to 80 %RH A B A B C A C o
temperature and humidity (non-condensing) 15kg| 2431| 339] 373 15kg| 307| 273 2203 3kg| 1693] 1693 Mitsubishi HF-KP13
i Note
Note 1. Positioning repeatability in one direction. 30ka| 1536] 160 177 _ 30kg| 107] 94| 1161 _ okg] 830 830 iectricCorp. [HG-KR13
Note 2. When a moving distance is short and depending 45kg| 1188] 101] 112 _ 45kg| 39| 35 629 _ 8kg| 614 614 Note. To combine with the
on an operation condition, it may not reach the conversion adapter
maximum speed. LGXS07-5 P i
Note 3. The rated thrust and maximum transferable weight  Horizontal installation (unitmm) Wall installation __(unit:mm)  Vertical installation (unit: mm) <GX-BEND-40>, the shim
are values assuming the attached motor outputs A B A B T A T plate (t1) is necessary.
the rated torque. 30kg| 2918 172] 197 _ 30kg| 122[ 106| 2461 6kg| 907| 907
Note 4. When using in a clean environment, attach a suction
air joint. The degree of cleanliness is the cleanliness 50kg| 2543 96 110 S0kg 34 30| 1480 9kg| 591 591 Conversion Eiin plkEiE pEm
level achieved when using at 1000 mm/sec or less. 85kg| 2031 49 56 85kg 0 0 0 16kg| 315 315  adapter product nuprnberp
Note 5. The required suction amount will vary according ) X 3 X ) K model
to the operating conditions and operating Note. Distance from center of slider top to center of gravity of object being carried at GX-BEND-40 | KES-M2295-00
environment. a guide service life of 10,000 km.
Note. See P24 for acceleration/deceleration and inertia Note. Service life is calculated for 600 mm stroke models.
moment.
4 )
LGXS07
113 Effective stroke (89)
36.7 (Note 1) 88 12.7 (Note 1)
32
@
] > & & 71 — o 1
o T 0
g D L
oc® - - ﬁififiilflfk
© < ‘ |
Ea L il
2 > & o | ] "o | ]
= 8-M5x0.8 Depth 15
+0.012
S 5). 2-$5H7 (*5°'°) Depth 8 b Z;g
25 g So 25 (146.6)
55 © T 00}6 114
= E )  ———— N R
o &3 2 [l 3 /I [P
i o & T i
w)|
1 ©
Coupling section M6x1.0 Depth 6 , Mgtgr.installation block
(For installation of suction air joint)
Grounding terminal 4-M4x0.7 Depth 8 15 (Qa-1) x60 9.5
(W4) (77.5 table knock hole position) 60 Qa-M6x1.0 Depth 7 (Note 2) 55
Il
IP | {:)_@,L E3 E & @,L
¢ ¢ ¢ ¢ ¢ ¢
I@ ©-0 © © © s
|
- 2R/21 A Cross-section
. 2.5
$4HT (*§°'? ) Depth 5 100 e 50 Countersunk hole for Qc-M5
Lo Refer to section A cross-section
355] 35 [15 130 Qbx100 Qex50 (Note )
Effective stroke | 50 [100]150/200/250[300|350/400/450(500(550/600]650(700] 750 | 800 | 850 | 900 | 950 [1000(1050[1100 Note 1. Stop positions are determined by the mechanical
Lb 252|302[352[402|452|502|552(602(652|702]752/802|852(902| 952 [1002]1052]1102[1152[1202[1252|1302 stoppers at both ends.
Lc 160[160]160[160[360|360|360[360[360|360[360[360|760|760] 760 | 760 | 760 | 760 | 760 | 760 [ 760 | 760 Note 2. When using the tap holes to mount the body,
Qa 415[5[6 7|89 [10[10|11[12[13[14[15]| 15 [ 16 [ 17 [ 18 [ 19 [ 20 [ 20 | 21 remove the set screws first. _
Qb 0 0 0 0 2 2 2 2 2 2 2 2 6 6 6 6 6 6 6 6 6 6 Note 3. When using the countersunk holes (section A
Qc 0 1 21 3]0 1 21345670 1 2 3 4 5 6 7 8 9 cross section) to mount the body, remove the cap
Qd 6 | 8 1012101214 [16 [ 18 [20 (22|24 (18 [20 | 22 [ 24 | 26 | 28 | 30 | 32 | 34 | 36 from the inner side and then fix.
Weight (kg) 3.2/34]3.7/4.0/43/45/48/51/53/56/59(6.2/64/6.7|70 |72 |75(78 81838689
| Lead 3 800 1530(1350(1170] 990 | 900 | 810 | 720 | 630
i | Lead 2 200 1020{ 900 | 780 | 660 | 600 | 540 | 480 | 420
speed | Lead 600 510 [ 450 | 390 | 330 | 300 | 270 | 240 | 210
(mmisec)| Lead 5 300 255 (225|195 | 165 | 150 | 135 | 120 | 105
Speed setting - 85% [75% |65% [55% [50% |45% [40%]| 35%

=
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

17



Motor-less Single Axis Actuator

[ Ordering method

LGXS10 - - [Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric components.

| Model  [Jiead designation i Motor, driver and other components required for installation are user’s responsibility.
% ggr‘r‘l’nﬁ?gh) Refer to user's manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
10: 10 mm or resonance from actuator will affect service life of actuator.
5:5 mm The product performance may not be satisfied depending on the compatible motor.

M Specifications H Allowable overhang \°t¢ M Static loading moment

Adaptable motor 200 W A
Repeatability Note ! +/-0.005 mm

Deceleration Ground ball screw ¢ 15 c A B Cc

mechanism (C5 class) B [o] A a» a

Stroke 100 mm to 1250 mm (50 mm pitch) LGXS10-30

Maximum speede'°2 1800 | 1200 | 600 | 300 ; 1 ; " ; : ” - : " (Unit: N'-m)
(or equivalent) mmisec | mmisec | mmisec|mm/sec -Horizontal |Rstallat|gn w Msta:ahonB (u""'é"'") mﬂmw My | MP [ MR
Ball screw lead 30mm |20 mm | 10 mm | 5 mm 10kg| 880] 538 292 10kg| 272] 474] 805 1kg| 4142] 4142 274 | 214 | 2#

Maximum Horizontal| 25 kg | 40 kg | 80 kg | 100 kg 20kg| 607| 256| 146 20kg 118| 192] 480 4kg| 987] 987
payload Nete? 25kg| 608 211| 124 _ 25kg| 93| 147| 454 Il Adaptable Servo Motor

(or equivalent)| Vertical| 4 kg 8kg | 20kg | 30 kg

Note3 LGXS10-20 Flange size 60
Foart:gl}ir:rral‘::;t) 113N | 170N | 341N | 683 N  Horizontal installation _(uni:mm) ~Wall installation _ (unit: mm) Vertical installation (unitmm)  Specification Wattde ZEOW
= ; 5 A B (o] A B (o] A C
Maximum dimensions of
cross section of main unit W 100 mm x H 99.5mm ;::9 1372 25421 isg ;::9 ﬁgi ?gg 1%?? ::9 21?)?7 21%?7 Manufacturer Model
Overall length ST +175.5 mm 9l 756 2541 15 9 gl 1018 1015 0 @ kawa  |SGMJV-02

40kg| 468 142] 88 _ 40kg] 51| 78] 313 8kg| 752 752

ISO CLASS 3 (1SO14644-1) Electric Corp. |SGM7J-02

Degree of cleanliness Note4

or equivalent LGXS10-10 SV-[1020
Intake air Nete5 30 N£&/min to 90 N&/min Horizontal installation wnitmm ~ Wall installation  (unit:mm) Verticalinstallation Wnitmm)  Kevence Corp. W
. . A B (o] A B (o] A C -
Using ambient 0to 40 °C, 35 to 80 %RH
temperature and humidity (non-condensing) 30kg| 1801] 299] 204 _ 30kg| 163[ 235/ 1630 Skg| 1932] 1932 itsubishi HF-KP23

50kg| 1361 163] 111 _ 50kg| 69| 99| 1064 _ 10kg| 934 934 Electric Corp. |HG-KR23 ™
80kg

Note 1. Positioning repeatability in one direction. 1273 87 59 80kg 16 23| 559 20kg| 436] 436

Note 2. When a moving distance is short and depending

Note. To combine with the

on an operation condition, it may not reach the LGXS10-5 .
maximum speed. ) . Horizontal installation (unitmm) ~ Wall installation _ (unit: mm)  Vertical installation (unit:mm) 2%’;{652',3’,‘35‘38??; hi
Note 3. The rated thrust and maximum transferableweight — T A | B | ¢ . | A C - | A Cc_ - -0U>, the shim

are values assuming the attached motor outputs plate (t1) is necessary.
the rated torque.

Note 4. When using in a clean environment, attach a suction

[ B A Cc
30kg| 5603] 321 225 30kg| 181] 258| 5193 10kg| 1018| 1018
50kg| 3691 177| 124 50kg 79|  113| 3109 20kg| 477| 477

air joint. The degree of cleanliness is the cleanliness _ 80kg| 2614| 95| 67  80kg| 22 31| 1555 _ 30kg| 296| 296 R ——
level achieved when using at 1000 mm/sec or less. 100kg| 2218 68 48 100kg 0 0 0 adapter product nupmberp
Note 5. The required suction amount will vary according . R . . . . model
to the operating conditions and operating Note. Distance from center of slider top to center of gravity of object being carried at GX-BEND-60 | KEV-M2295-00
environment. a guide service life of 10,000 km.
Note. See P.26 for acceleration/deceleration and inertia Note. Service life is calculated for 600 mm stroke models.
moment.
b
oL
s Ve N\
= LGXS10
3 88 Effective stroke (87.5)
E] 10 (Note 1) 95 9.5 (Note 1)
2 80
: g | [
o
s ]
) 855 LI
>< ¥ u ]| 1
w @ 8-M5x0.8 Depth 9 .6
2-b4HT (*3°'2) Depth 6 35] |15
0| o
— @) Lb Ln"oo'
%« s |8 Mex1.0 Depth 6 2-M5x0.8 Depth 10 0 c=
1.5 57| 92 (For installation of 4 2 pl t it ing sid
. Instafiati (50 10 (2 places at same position on opposing sides) 84
4 = E sucfion air joint) F} 9,0'0 | | Detail of section B
I3 e -1 —
5| % @ o < : ©
- t @ : 8 2 :{ | s—
\ |
il Grounding terminal ; T
Coupling section (M4 4-M5x0.8 Depth 8 \Motorinstallation block - | ss |\8 2 >
Qa-M6x1.0 Depth 12 100 o =
88 _ 50 Qox200 Ld _ 60_ 60 (to) 0
70 200 = So
T ] 5 E
g <] N 7 R ; R i
S
| === Fm# &
4 N N . . e T et )
H10H7 (*5°'5) Refer to section C cross-section 200 A ©l9
2-46H7 (*6'?) Depth 8 100 Qdx200 C cross-section Detail of section A
10+/-0.02 Lc
Countersunk hole for Qb-M6 - )
Refer to section C cross-section (Note 3) Note 1. Stop positions are determined by the
mechanical stoppers at both ends.
Effective stroke [ 100150 ]200]250]300[350[400]450]500]550]600][650]700 750 |800]850]900][950[100011050/1100/1150[1200[1250 Note 2. The length under head of the
275.5/325.5|375.5|425.5|475.5(525.5|575.5|625.5|675.5|725.5|775.5(825.5|875.5|925.5(975.5| 1025.5|1075.5| 1125.5| 1175.5 | 1225.5| 1275.5| 325.5] 1375.5| 1425.5 hex socket head bolts <MG x
Lc 100]150[200|250]300] 350400 [450 500|550 600650700 |750|800|850|900]|950[1000105011100[1150{12001250 1-.‘1’;1;‘1590'” ”:P“"“hef”dy "
Ld 0 | 50 [100[150(200] 50 [100[150[200| 50 [100| 150|200 50 |100150[200| 50 |100|150|200] 50 | 100|150 ;Véles(zs"c‘gg:g‘gcr%‘;‘;Tseegj‘;n)
Qa 8 |10 [ 10 [10 |10 [12 [ 12 [12 |12 |14 [14 [ 14 [ 14 |16 [ 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 must be <<20 MM oF More>>.
Qb 4166668888 /[10[10[10[10 121212121414 14|14 1616 16 The recommended length under
Qc Ololololo[1[1 1122223333 [4/4]4a]a]5[5]5 head of the hex socket head
Qd Olo0JOoO[O[O[ [T [1|1[2]2 22333 |34 [44[4]5][5]5 bolts <M6 x 1.0> used to mount
Weight(kg) [46[51]56[6.1/6.6|7176]81]86]9.1]9.6[10.1[10.6[11.1[11.6[12.1[12.6]13.1]13.6[14.1{14.6[15.1/15.6[16.1 the body with the mounting tap
Lead 30 1800 1530/1350[1170[990[900]810|720]630| 540 [450 hole specifications is <<frame
Maxi Lead 20 1200 1020{900780|660|600|540(480[420| 360 | 300 thickness + 10 mm or less>>.
speed | Lead 10 600 510 450|390 330/300/270(240[210] 180 |150 Note3. When using the mounting
(mmisec)_Lead 5 300 255[225]195[165]150[135[120[105] 90 | 75 gf::s‘es':g{:gn’;"tffnfjg'g;ﬁo ”
1 0, 0 0, 0y 0y 0y 0y 0y 0, 0 . ]
- Speed setting - 85%|75%165%|55%|50%(45%|40%|35%| 30% 125% remove the seal and ten fx. |

18



Motor-less Single Axis Actuator

[ Ordering method

LGXs12 | |
This system is provided as mechanical actuator unit and not including any adopters or electric components.
| Model  HlLead designation | Motor, driver and other components required for installation are user’s responsibility.
% zggéfnlz?gh) Refer to user's manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
0: 10 mm B or resonance from actuator will affect service life of actuator.
5:5 mm The product performance may not be satisfied depending on the compatible motor.
M Specifications H Allowable overhang "t M Static loading moment
Adaptable motor 400 W A
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 15 c A B C
mechanism (C5 class) B (o] A [(MR] a
Stroke 100 mm to 1250 mm (50 mm pitch) P
Maximum speed Note2 1800 | 1200 | 600 300 A - . o . . - A . " (Unit: N-m)
(or equivalent) mm/sec| mm/sec| mm/sec | mm/sec %M MstaﬂatlonB {unitimm) - Vertical |nstalft|on (U"'é'"'"' My | MP [ MR
Ball screw lead 30 mm |20 mm | 10 mm | 5 mm 10kg| 1800 1076 638 _ 10kg| 632 1011 1724 3kg| 2646] 2646 334 | 334 [ 204
Maximum Horizontal| 35kg | 50 kg | 95 kg | 115 kg 20kg| 1298| 531 332 20kg| 315 466| 1169 6kg| 1291 1291
payload Metes - 35kg| 1343| 335] 228 _ 35kg| 198] 270] 1133 __ skg| 952 952 |_NAVETJEl RTINS
(or equivalent)| Vertical 8kg | 15kg | 25kg | 45kg —
Note 3 LGXS12-20 = i 60
E;feegl}i';;lﬁ:“;“ 225N | 339N | 678 N (1360 N Horizontal installation _unitmm) Wall installation _(unit: mm) Vertical installation nitmm)  Specification WZ?;Z: = 4%0 W
S 5 = A B A B [] A o]
Maximum dimensions of
cross section of main unit W 125 mm x H 101 mm ;z:g iggg igg g;; ;ztg ggf ggl 2111‘;? 1(5):9‘ ?é?g ?g?g Manufacturer Model
Il length T+ 211, 9 9 9 N
Overailltengt S 5 mm 50kg| 884] 238 164 _ 50kg| 126 173| 713 _ 15kg| 805 805 Yasukawa  |[SGMJV-04
A notes| |SO CLASS 3 (1SO14644-1) ———  Electric Corp. [SGM7J-04
Degree of cleanliness .
or equivalent LGXS12-10 SV-[]040
Intake air Notes 30 N&/min to 90 N&/min Horizontal installation (nitmm ~ Wall installation  (unit:mm) Vertical installation (nitmm)  Keyence Corp. o ——
Using ambient 0to 40 °C, 35 to 80 %RH AN B e AN N E G AN Sv2-[1040
temperature and humidity (non-condensing) 30kg| 3119] 609 457 _ 30kg| 415| 544 2988 _ 10kg) 1868| 1868 it pishi HF-KP43
— — —— 50kg| 2430 346] 261 _ 50kg| 216] 281| 2217 _ 15kg| 1225 1225  Electric Corp. |HG-KR43 "™®
Note 1. Positioning repeatability in one direction.
Note 2. When a moving distance is short and depending 80kg| 2430] 199 151 80kg| 104] 134] 1939 25kg| 7M1 711 Note. To combine with the
on an operation condition, it may not reach the 95kg| 2565 160] 121 95kg 74 95| 1838 ! conversion adapter
maximum speed. i ight LGXS12-5 <CX-BEND-60%, the shim
Note 3. The rated thrust and maximum transferable weight Yo rizontal installation (nitmm ~Wall installation _(unit:mm) ~ Vertical installation (unimm) oo e s
are values assuming the attached motor outputs A B T ¢ - | A B € A 9 plate (t1) is necessary.
the rated torque.
Note 4. When using in a clean environment, attach a suction 30kg| 11075 653] 504 3°k9‘ 456 58810687 15k9‘ 1332 1332
air joint. The degree of cleanliness is the cleanliness __ 50kg| 7428 373] 288 _ 50kg| 239 308| 6930 _ 30kg| 634 634 Conversion [ gri oot
level achieved when using at 1000 mm/sec or less. 80kg| 5449| 215 166 80kg 117| 150| 4706 45kg| 460/ 460  adapter product nupmberp
Note 5. The required suction amount will vary according 115kg| 4354] 136/ 105 115kg 55 711 3214 model
to the operating conditions and operating GX-BEND-60 | KEV-M2295-00
environment. Note. Distance from center of slider top to center of gravity of object being carried at
Note. See P.28 for acceleration/deceleration and inertia a guide service life of 10,000 km.
moment. Note. Service life is calculated for 600 mm stroke models.
s )
LGXS12
106 Effective stroke (105.5)
130
10.5 (Note 1) 12 10 (Note 1)
" ‘ 1] 82
£ i
S rr—t—
08 e
T8 i
] xx S 6
e 8-M6x1.0 Depth 12 35 1.5
2-p4H7 (*§°'?) Depth 6
() Lb =
8 185, 2-M5x0.8 Depth 10 :m‘i )
£ 2-M6x1.0Depth 6 450 50 (67.5)] (2 places at same position on opposing sides) 125 16l
= (For installation of s o) 105 Detail of section B
5 suction air joint) GO'W h L !
g 32 P o e = -
N2 3 3o ° A
. ' i W L iTe | e
Grounding terminal = B o ©
Coupling section ~ M4) 4-M5x0.8 Depth 8 \Motor installation block ]12 g 2 ©
Qa-M6x1.0 Depth 12 £
106 _ 50 Qcx200 Ld 60__60 3
70 200 ‘ S (Le) 5
— S g
S s o
§ *| + . F 3 . - . + - U 2 3 2|
7 o[ — 4
> v‘c»
0.015 8 = = = = = : -B'T: .2 an\
$10H7 (*9°"°) Refer to section C cros;so-'szectlon 200 A 10 3 N 2
2-p6H7 (* Depth 8
6H7 (%o ) e1p0+/_0 02 100 Q(EEZOO C cross-section Detail of section A
Countersunk hole for Qb-M6 Note 1. Stop positions are determined by the
Refer to section C cross-section (Note 3) mechanical stoppers at both ends.
Note 2. The length under head of the
Effective stroke [100[150 (200 [250|300|350]400[450|500|550|600|650|700|750 800|850 900|950 |1000/1050[1100[115011200/1250 hex socket head bolts <M#6 x
Lb 311.5/361.5411.5(461.5|511.5/561.5/611.5/661.5|711.5|761.5|811.5|861.5| 911.5/961.5/ 1011.5(1061.5| 1111.5| 1161.5 | 1211.5|1261.5[1311.5 | 1361.5| 1411.5| 1461.5 1.0> used to mount the body
Lc 100[150(200|250/300|350[400|450|500|550|600|650|700|750|800|850|900|950[100011050/1100{1150[1200[1250 with the mounting countersunk
Ld 0 | 50 /100150200 50 [100]150|200| 50 |100|150/200| 50 |100]150|200| 50 [100|150|200| 50 |100]| 150 holes (section C cross-section)
Qa 8 {10]/10/10 /10 |12 |12 |12 |12 |14 |14 |14 |14 |16 |16 |16 |16 |18 | 18 | 18 | 18 | 20 | 20 | 20 must be <<20 mm or more>>.
Qb 4161666818188 [10[10[10][10[12[12]12 12141414 14|16 1616 The recommended length under
Qc 0 lofoJofo[1 1 [1[1[2]2[2[2]3[3[3[3[4[4[4[a]5][5][5 ot oM6 105 oo e it
Qd 0O lofofoflo 11 [1[1][2]2[2]2[3[3[33[4[4[4][4]5[5]5 the body with the meuntne tar.
Weight (kg) 6517117818591 19.8110.5/11.2{11.8]12.5/13.2|13.9/14.5|15.2|15.9116.5|17.2(17.9]18.6]19.2|19.9/20.6|21.3]21.9 hole schiﬁcations is <<fr§mep
] Lead 30 1800 1530[1350[1170[ 990900 810[720[630] 540 [450 (hickness 4 10 mm or [655em.
Maximum| L ead 20 1200 10201900780 [660 600 [540[480[420[ 360 [300 yote 3. When using the mounting
speed | Lead 10 600 5101450[390[330[300|270/240[210| 180 [150 countersunk holes (section C
(mmisec)|_Lead 5 300 255[225(195[165( 150 | 135|120 | 105 90 75 cross-section) to mount the body,
\- Speed setting - 85%|75%165%55%50%|45%[40%[35%| 30% [25% remove the seal, and then fix. )

=
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

10 I



=
=
s
S
o
o
3
o
=%
e
o
()
><
w

20

| GXS16 ez

Motor-less Single Axis Actuator

[ Ordering method

IR - [T -
40: 40 mm 100 to 1450
120: 20 mm (50 mm pitch)

10: 10 mm
B Specifications

[Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric components.
Motor, driver and other components required for installation are user’s responsibility.

Refer to user’'s manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
or resonance from actuator will affect service life of actuator.

The product performance may not be satisfied depending on the compatible motor.

H Allowable overhang N°t

M Static loading moment

Adaptable motor 750 W A
Repeatability Nt +/-0.005 mm
Deceleration Ground ball screw ¢ 20 A B c
mechanism (C5 class) B C
Stroke 100 mm to 1450 mm (50 mm pitch) ¢ A mw m
Maximum speed g2 2400 1200 600 LGXS16-40 (Unit: N-m)
(or equivalent) mm/sec_| mm/sec | mm/seC _ Horizontal installation _(unit:mm) Wall installation _ (unit: mm) Vertical installation (unit:mm)
Vertical installation (unit mm) My [ MP | MR
Ball screw lead 40mm | 20mm | 10 mm A B A B A c 706 | 706 | 620
= N 15kg| 2876| 1866| 1253 15kg| 1273| 1801| 2798 3kg| 6604| 6604
Maximum Horizontal| 45 kg 95 kg 130 kg
payload Netes - 30kg| 3071| 1062| 869 30kg| 884 999 2925 6kg| 3834| 3834 ™ Ad b| s M
(or equivalent)| Vertical| 12 kg 28 kg 55 kg 45kg| 3920] 810] 731 _ 45kg| 728 747] 3677 _ 12kg| 3466 3466 aptable Servo Motor
Rated thrust Noe2 ;
(or equivalent) 320N | 640N | 1280N | Gxs1620 _ _ N specifcation 12102 5iZ [ 180
Maximum dimensions of Horizontal installation (unit:mm) ~ Wall installation  (unit: mm)  Vertical installation (unit: mm) Wattage 750 W
s e e ol W 160 mm x H 130 mm A B A B [ A [o]
Overall length ST+ 2425 mm 30kg| 3873] 1258 1109 _ 30kg| 1105 1195] 3753 _ 10kg| 3411 3411 _Manufacturer Model
. MJV-08
i . ISO CLASS 3 (ISO14644-1) 50kg| 2573| 735/ 653 50kg| 632| 672 2427 20kg| 1744| 1744 Yasukawa SG
iagyiee Gl el Inees or equivalent 80kg| 1801 441] 395 _ 80kg| 361] 378| 1615 _ 28kg| 1566] 1566 Electric Corp. |SGM7J-08
Intake air Note® 30 N£/min to 90 N&/min 95kg| 1584/ 363| 326 95kg| 289 301| 1378 Sv-[J075
Using ambient 0'to 40 °C, 35 to 80 %RH Keyence Corp. 1o\ o o5
temperature and humidity (non-condensing) LGXS16-10 . . i - _
o . - Horizontal installation _(unitmm) Wall installation _ (unit: mm)  Vertical installation unitmm)  Mitsubishi HF-KP73
Note 1. Positioning repeatability in one direction. — | A B c A B C —__ [ A [ C_ ElectricCorp. [HG.KR73"™®
Note 2. When a mmgi_ng dist«'ént_ce iS_tshort ans depﬁﬂ(ﬁing 50kg| 6270 1030 1028  50kg| 984| 967| 6106 _ 15kg| 3444| 3444 ——
i speaqrotion ft may notreach he 80kg| 4459] 625| 626 _ 80kg| 575] 563 4252 _ 30kg| 1689] 1689 o€ Zg:\fg’r‘:l'(’)‘::(’j"ah }2?
Note 3. The rated thrust and maximum transferable weight ~ 100kg| 3975| 491) 492 100kg| 439 428 3723 _ 55kg| 891 891 <GX-BEND—80£ the shim
are values assuming the attached motor outputs . y
the rated torque. 9 P 130kg| 3792| 366] 368 130kg| 313] 304| 3429 plate (t1) is necessary.
Note 4. When using in a clean environment, attach a suction Note. Distance from center of slider top to center of gravity of object being carried at
air joint. The degree of cleanliness is the cleanliness a guide service life of 10,000 km. Conversion
level achieved when using at 1000 mm/sec or less. N ice life i lcul f ki | Shim plat t
Note 5. The required suction amount will vary according ote. Service life is calculated for 600 mm stroke models. adapter product |nr:upmab2rpar
to the operating conditions and operating model
environment. GX-BEND-80 | KEX-M2295-00
Note. See P.30 for acceleration/deceleration and inertia
moment.
( N\
LGXS16
1215 Effective stroke (121)
14.5 (Note 1) o 14 (Note 1)
‘ [l 90
. —
k] i
£8 i
2
g3 |
8 5= 6
8-M8x1.25 Depth 16 35 1.5
2-96H7 (*§°2) Depth 8
# —_ — (2) Lb
T 185 éo 8 2-M6x1.0Depth 6 . (208) 2-M5x0.8 Depth 10 160
5' 2| 22| (For installation of g 50 (79 (2 places at same position on opposing sides) 136
T | F| suctionairjoint) © L ‘
3|2 0 T Detail of section B
o 3B ocD.Y S . - i _
vl &
[ 1] = — ’!:o ‘ N
. . 9 o | L To | o
Grounding terminal Motor nstallation block i T B
Coupling section M4) \Motor installation bloc - 148 © -
4-M6x1.0 Depth 10 Qa-M8x1.25 Depth 16 160 g =
1215 _ 50 Qcx200 Ld 60__60 s g
70 200 M 2
T (Le) 8
o 7 o S - Se
S. o & S S H £ & ° =)
g RE i '
& 3)
wours . = < < ® e o\ o 3 ' O - @fb
$10H7 ("5 ) Refer to section C cross-section 200 A 1 © 2
+0015
2:48H7 (""" Depth 10 100 Qdx200 C cross-section Detail of section A
10+/-0.02 L Countersunk hole for Qb-M8
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Refer to section C cross-section (Note 3)
Note 2. The length under head of the hex socket head bolts <M8 x 1.25> used to mount the body with
the mounting countersunk holes (section C cross-section) must be <<25 mm or more>>. The
recommended length under head of the hex socket head bolts <M8 x 1.25> used to mount the Note 3. When using the mounting countersunk holes (section C cross-section) to mount the body, remove
body with the mounting tap hole specifications is <<frame thickness + 15 mm or less>>. the seal, and then fix.
Effective stroke | 100 | 150 | 200 | 250 | 300 | 350 [ 400 | 450 | 500 [ 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000(1050(1100/1150({1200/1250(1300|1350/1400|1450
L 342.5/392.5/442.5/492.5|542.5592.5|642.5/692.5|742.5792.5|842.5(892.5/942.5/992.5 1042.5( 1092.5| 1142.5 | 1192.5 | 1242.5| 1292.5| 1342.5|1392.5 | 1442.5| 1492.5| 1542.5 | 1592.5| 1642.5| 1692.5
Lc 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 {1000/1050|/1100{1150]1200|1250{1300|1350|1400{1450
Ld 0 | 50 |100/150|200| 50 | 100|150 {200 | 50 | 100|150 |200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
Qa 8 |10/10 /10|10 |12 |12 |12 |12 |14 |14 |14 |14 |16 | 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 | 20 | 22 | 22 | 22
Qb 4 6 6 6 6 8 8 8 8 |10/ 101010 12|12 |12 |12 |14 |14 | 14 | 14 | 16 | 16 | 16 | 16 | 18 | 18 | 18
Qc 0 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6
Qd 0] 0 0 010 1 1 1 1 2 [ 2] 2 ]2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6
Weight (kg) 11.7]12.7]13.7]14.7115.7|16.6[ 17.6 | 18.6| 19.620.6|21.5|22.5|23.5|24.5|25.5|26.5| 27.4 | 28.4|129.4|30.4|31.4|32.433.3|134.3|35.3/36.3|37.3|38.2
Maximum|_Lead 40 2400 2160/1920(1680(1440/1320(1200/1080 960 840 720 600
speed Lead 20 1200 1080| 960 | 840 | 720 | 660 | 600 | 540 480 420 360 300
. P " | Lead 10 600 540 | 480 | 420 | 360 | 330 | 300 | 270 240 210 180 150
! '|Speed setting — 90%180%[70% [60%[55% [50%[45%| 40% [35%| 30% 25%
I J




L GXS20

Motor-less Single Axis Actuator

[ Ordering method

LGXS20 -

I R - [P -
40: 40 mm 100 to 1450
120: 20 mm (50 mm pitch)

[Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric components.
Motor, driver and other components required for installation are user’s responsibility.

Refer to user’s manual for installation details. Refer to your motor manual for tuning or adjustment. Vibration
or resonance from actuator will affect service life of actuator.

10: 10 mm The product performance may not be satisfied depending on the compatible motor.
B Specifications H Allowable overhang "°t¢ M Static loading moment
Adaptable motor 750 W A
Repeatability Nt +/-0.005 mm
Deceleration Ground ball screw ¢ 20 A B o
mechanism (C5 class) B Cc
Stroke 100 mm to 1450 mm (50 mm pitch) ¢ A w (F)
Maximum speed po=2 2400 1200 600 LGXS20-40 (Unit: N-m)
(or equivalent) mm/sec_| mm/sec | mm/sec  Horizontal installation (unittmm) Wall installation  (unit:mm) Vertical installation (unit:mm) MY MP MR
Ball screw lead 40mm | 20mm | 10 mm A B A B A c 1423 | 1423 | 1251
= 5 20kg| 5460| 2838| 2124 20kg| 2203| 2768| 5351 5kg| 8187 8187
Maximum Horizontal| 65 kg 130kg | 160kg
payload Netes - 40kg| 7494| 1781| 1626 40kg| 1690| 1711| 7259 10kg| 5885| 5885 ™ Ad t b| s M t
(or equivalent)| Vertical| 15kg | 35kg | 65kg 65kg| 10253 1282 1270 _ 65kg| 1276] 1212 9808 _ 15kg| 5971] 5971 aptable servo iiotor
Rated thrust Vo3 i
(or equivalent) 320N | 640N | 1280N | Gxs20-20 ] _ . specifcation 12192 5iz8 [ 180
: : : Horizontal installation (unit:mm) ~ Wall installation  (Unit: mm)  Vertical installation (Unit: mm) Wattage 750 W
Maximum dimensions of W 200 mm % H 140 mm — _
cross section of main unit A B A B c A c Manur Model
Overall length ST +288.5mm 50kg| 5451| 1497| 1381 50kg| 1394 1426| 5279 20kg| 3443| 3443 anufacturer ode
ws| SO CLASS 3 (ISO14644-1) 80kg| 4429 913 856 _ 80kg| 851] 843] 4165 _ 30kg| 2603| 2603  Yasukawa SGMJV-08
Do @ ERENIIESS or equivalent 100kg| 4588] 755 726 _100kg| 707| 685 4249 _ 35kg| 3174 3174  Electric Corp. [SGM7J-08
Intake air Notes 30 N£/min to 90 N&/min 130kg| 4351| 597| 585 130kg| 551| 526| 3945 SV-[]075
Using ambient 0'to 40 °C, 35 to 80 %RH Keyence Corp. o\ o o075
temperature and humidity (non-condensing) LGXS20-10 . i . - )
. . . Horizontal installation _(unitmm) Wall installation _ (unit:mm) Vertical installation unitmm)  Mitsubishi HF-KP73
Note 1. Positioning repeatability in one direction. A B | C A B C —__ [ A [ C_ ElectricCorp. [HG.KR73"™®
Note 2. When a movti_ng distgntce iS_tshortan? depﬁqging 40kg| 22572 2615| 2722  40kg| 2713| 2545(22263  20kg| 5173| 5173 ——
i speaq.nrion. ftmay notreach the 80kg| 16750 1278] 1336 _ 80kg| 1297| 1208| 16175 _ 40kg| 2561] 2561 NOte- Izﬁfg?;g‘f;"’d';h tgre
Note 3. The rated thrust and maximum transferable weight 120kg| 14083| 833| 871 _120kg| 821| 763) 13243 _ 65kg| 1604 1604 <GX-BEND—8OE the shim
are values assuming the attached motor outputs . !
the rated torque. 9 P! 160kg| 12387| 610] 639 160kg| 582 540| 11284 plate (t1) is necessary.
Note 4. When using in a clean environment, attach a suction Note. Distance from center of slider top to center of gravity of object being carried at
air joint. The degree of cleanliness is the cleanliness a guide service life of 10,000 km. Corversion
level achieved when using at 1000 mm/sec or less. ice life i lcul f K | Shim plat t
Note 5. The required suction amount will vary according ote. Service life is calculated for 600 mm stroke models. adapter product |r:upmabzrpar
to the operating conditions and operating model
environment. GX-BEND-80 | KEX-M2295-00
Note. See P.32 for acceleration/deceleration and inertia
moment.
4 )
LGXS20
144.5 Effective stroke (144)
170
17 (Note 1
(Note 1) 140 16.5 (Note 1)
L
% KX 2 1 / i‘J 4L‘| 1
o Hi
Iy £y i i
£g2 R e | A
i i i 1T
[53
a orl/ — - 35 |15
8-M8x1.25 Depth 16 e
2-06H7 (*3°2) Depth 8 3
43 — - Lb == P
T {2058 |8 | 2M6x1.0 Depth (249) 2M5x0.8 Depth 10 200
058 ) 5 (For installation of 450 : — —
Il 5 | Z| suction ar joint) 50 _(99.5) (2 places at same position on opposing sides) 170
535 o ~ o i | Detail of section B
. 35 [o2 - m—— . =t
= e ?E te ! ) ,j,
= I ! o | &
w | iy % (-} | [}
\Motor installation block ~| B
Coupling section 4-M6x1.0 Depth 10 1445 25 Qox200 Qa-MBx1.25 De?_th 16 ‘ 1222 ‘ & 0
Grounding terminal -5 o b 60__60 g
(M4 95 200 205 £
\ \ S 8
I 3 7 ! z - (Lo) N
o~ o o P’ o é T°
g |8 2 |
3 88 i
3
© =) o D)
< + ° 3 * o 1 p2e < @
+0.015 -
‘00152-¢8H7( g ?Depth 10 : 200 A 10 b 2
$10H7 (*5°") Refer to section C cross-section 100 Qdx200 C cross-section Detail of section A
354002 Lo Countersunk hole for Qb-M8
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Refer to section C cross-section (Note 3)
Note 2. The length under head of the hex socket head bolts <M8 x 1.25> used to mount the body with
the mounting countersunk holes (section C cross-section) must be <<25 mm or more>>. The
recommended length under head of the hex socket head bolts <M8 x 1.25> used to mount the Note 3. When using the mounting countersunk holes (section C cross-section) to mount the body, remove
body with the mounting tap hole specifications is <<frame thickness + 15 mm or less>>. the seal, and then fix.
Effective stroke | 100 | 150 [ 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 [ 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000({1050/1100(1150(1200(1250(1300]1350/1400(1450
Lb 388.5/438.5/488.5|538.5|588.5|638.5|688.5|738.5|788.5/838.5/888.5/938.5/988.5/1038.5/1088.5| 1138.5| 1188.5 | 1238.5[1288.5| 1338.5| 1388.5| 1438.5(1488.51538.5|1588.5| 1638.5( 1688.5| 1738.5
Lc 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000{1050/1100/1150]|1200/1250|1300|1350{1400/1450
Ld 50 | 100 | 150|200 | 50 | 100|150 |200| 50 | 100 | 150|200 | 50 | 100 | 150|200 | 50 | 100|150 |200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
Qa 10101010 |12 |12 |12 |12 |14 |14 | 14 |14 | 16 | 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 | 20 | 22 | 22 | 22 | 22
Qb 4 6 6 6 6 8 8 8 8 101010 [10 |12 |12 | 12 |12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16 | 18 | 18 | 18
Qc 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
Qd 0 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6
Weight (kg) 17.2118.5/19.8121.1122.4|123.7|25.0/26.3| 27.6 | 28.8|30.1|31.4|32.734.0/35.3|36.6 | 37.939.2140.4 | 41.7 | 43.0|44.3|45.6146.948.2149.5|50.8|52.0
Maximum|_Lead 4 2400 2160/1920(1680/1440|1320(1200/1080 960 840 720 600
speed Lead 2 1200 1080{ 960 | 840 | 720 | 660 | 600 | 540 480 420 360 300
. p’ .| Lead 600 540 | 480 [ 420 | 360 | 330 | 300 | 270 240 210 180 150
! ! |Speed setting = 90% [80% | 70% |60% [55% | 50% [45% 40% 35% 30% 25%
- J

=
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

21 I



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
LGXS05

0 0 0 0 0 0
Model 0 - - C e Ml :
Payload Accelerati_on/ Accelera!i_onl Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelerati_on/
Deceleration Deceleration Deceleration Deceleration Deceleration Deceleration
kel [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?]
0 241 241 4.2 3.6 5.3 5.3
1 1.91 241 3.84 2.4 5.3 5.3
2 1.7 1.64 2.99 1.8 3.98 3.98
3 1.53 1.34 2.45 1.44 3.19
4 1.4 1.14 2.07 1.2 2.66
5 1.28 0.99 1.8 2.28
6 118 0.87 1.58
7 1.1 0.78 1.42
8 1.02 0.7 1.28
9 0.96
10 0.9
1" 0.85
12 0.81
13 0.77

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS05-5
Horizontal/ Vertical
Wall hanging _ 25 _. 25
R R
E o N E o=\
c c
) \ S \
© © N
% 18 \\ % 18 N
4 \\ & \
Q A ~— Q A
.s \55 § \\
© ®
& 05 & 05
@ @
Q Q
Q Q
< 5 < 0
0123 456 7 8 91011121314 0 1 2 3 4 5 6 7 8 9
Payload [kg] Payload [kg]
LGXS05-10
Horizontal/ Vertical
Wall hanging —_ 45 g —_ 4
L 4PN L 35 N
£ 35 N £, AN
j = c
S 4 S N\
© S 25
% 25 % 2 \\
D 2 , D
Q NN Q 15 ~_
s 15 T — S
= I =
S 4 g 1
K] K]
g 05 g 05
< 0 < 0
0 1 2 3 4 5 6 7 8 9 0 1 2 3 4 5
Payload [kg] Payload [kg]
—
(ep) LGXS05-20
>< Horizontal/ Vertical
() Wallhanging | _, 6 _ 6
— % :
5 E 5 £ 5 S
& 5 s
= S S
s g 4 5 4
= 9 9]
S § o S~~~ § 3
a a
= = I =
S s 2 s 2
- s s
g 1 2 1
o Qo
Q Q
< < 0
0 1 2 3 4 5 6 0 1 2 3
Payload [kg] Payload [kg]

LGXS05

[kg-m*x10™] Effective stroke [mm]
Model 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
LGXS05-5 0.139 | 0.147 | 0.155 | 0.163 | 0.171 | 0.179 | 0.187 | 0.195 | 0.203 | 0.211 | 0.219 | 0.227 | 0.235 | 0.243 | 0.251 | 0.259

LGXS05-10 0.146 | 0.154 | 0.162 | 0.170 | 0.178 | 0.186 | 0.194 | 0.202 | 0.210 | 0.218 | 0.226 | 0.234 | 0.242 | 0.250 | 0.258 | 0.266
LGXS05-20 0.177 | 0.185 | 0.193 | 0.201 | 0.209 | 0.217 | 0.225 | 0.233 | 0.241 | 0.249 | 0.257 | 0.265 | 0.273 | 0.281 | 0.289 | 0.297

. 22



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
LGXS05L

0 0 0 0 0 0 LGXSO05L | LGXSO5L | LGXSO5L | LGXSO5L | LGXSO5L | LGXSO05L
Model 0 0 0 0 Model -5 -5 -10 -10 -20 -20
orizonta e a orizonta e a orizonta e a Horizontal/| Vertical |Horizontal/| Vertical |Horizontal/| Vertical
anging all hanging all hanging Wall hanging Wall hanging Wall hanging
Payload Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelera!i_onl Accelerati_on/ Accelerati_on/ Payload Accelerati_onl Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelerati_onl
Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration
tkal [m/s’] [m/s’] [m/s?] [m/s?] [m/s?] [m/s’] kal [m/s?] [m/s?] [m/s’] [m/s’] [m/s?] [m/s?]
0 3.04 3.34 4.26 4.86 5.07 5.07 18 1.94 1.96
1 2.97 3.18 4.08 4.56 4.86 4.86 19 1.88 1.89
2 2.91 3.03 3.9 4.3 4.66 4.66 20 1.82 1.83
3 2.85 2.88 3.74 4.06 4.46 4.46 21 1.76 1.77
4 2.79 2.73 3.58 3.85 4.25 22 1.7 1.72
5 2.73 2.58 3.42 3.66 4.05 23 1.64 1.67
6 2.67 243 3.28 3.49 3.85 24 1.58 1.63
7 2.61 2.28 3.13 3.65 25 1.52
8 2.55 213 3 3.44 26 1.45
9 2.49 1.98 2.87 3.24 27 1.39
10 2.43 1.83 2.74 3.04 28 1.33
1 2.37 1.68 2.62 2.83 29 1.27
12 2.31 1.53 2.51 2.63 30 1.21
13 2.24 2.4 31 1.15
14 2.18 2.3 32 1.09
15 212 2.21
16 2.06 212
17 2 2.04

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS05L-5
Horizontal/ Vertical
Wall hanging | _, 35 4
k4 v 35
E 3INS €
Z- \\\ Z- 3 N
S 25 ~ 9 ~
8 N g 25 e
2 2 ™ g < S~
8 \\ 3 2 ™~
5 1.5 \\\ 5 15 T~
s M~ I
& g 1
[} [}
2 05 2 05
Q Q
< <
02 4 6 8101214161820 222426 2830 3234 01 2 3 456 7 8 9 10111213
Payload [kg] Payload [kg]
LGXS05L-10
Horizontal/ 45 Vertical 6
Wall hanging T —
% 4N %
.g. 35 \; g. 5 \
s - N S —
= 3 = 4
[ [ ——
2 25 2 3
2 T —— =
_E 1.5 .5 2
g 1 8
K] 2 1
2 05 3
< 0 < 0
0 2 4 6 8 10 12 14 16 18 20 22 2426 0 1 2 3 4 5 6 7 —
Payload [kg] Payload [kg] (@]
LGXS05L-20 R
Horizontal/ Vertical = 7
Wallhanging | _, 6 — 6 2 g
% B =3
E Shs E 5 — o 5
s \\\ < T —— = %
g 4 N g 4 Sz
° T~ ° ® 3
S 3 8 3 S 5
a ™~ a -
s 2 S 2
® ®
3 1 g 1
3 3
< < 0
01 2 3 456 7 8 9 10111213 0 1 2 3 4
Payload [kg] Payload [kg]

H Inertia Moment
LGXSO05L

[kg-m®x10™] Effective stroke [mm]

Model 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
LGXSO05L-5 0.144 | 0.152 | 0.160 | 0.168 | 0.176 | 0.184 | 0.192 | 0.200 | 0.208 | 0.216 | 0.224 | 0.232 | 0.240 | 0.248 | 0.256 | 0.264
LGXS05L-10 0.153 | 0.161 | 0.169 | 0.177 | 0.185 | 0.193 | 0.201 | 0.209 | 0.217 | 0.225 | 0.233 | 0.241 | 0.249 | 0.257 | 0.265 | 0.273
LGXS05L-20 0.192 | 0.200 | 0.208 | 0.216 | 0.224 | 0.232 | 0.240 | 0.248 | 0.256 | 0.264 | 0.271 | 0.279 | 0.287 | 0.295 | 0.303 | 0.311

23 I



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration

SXOT

=
@
=
=
o
=
o
3
@
E
-

24

LGXS07 | LGXS07 | LGXS07 | LGXSO07 | LGXS07 | LGXS07 | LGXS07 | LGXS07 LGXS07 | LGXS07 | LGXS07 | LGXS07 | LGXS07 | LGXS07 | LGXS07 | LGXS07

Model W -5 10 10 20 -20 -30 -30 Model [ -5 -0 10 20 -20 -30 -30
Horizontall| Vertical |Horizontall/| Vertical [Horizontal/| Vertical [Horizontall| Vertical Horizontal/| Vertical |Horizontall| Vertical [Horizontall/| Vertical
Wall hanging Wall hanging Wall hanging Wall hanging Wall hanging Wall hanging

Payload D ; I: D Payload D ; I:

kgl [m/s?] [m/s?] [m/s] [m/s] [mis?] [mis?] [m/s?] [m/s?] tka] [mis?] [mis?] [m/s?]

0 3.04 2.53 6.08 5.57 7.09 6.08 6.99 6.99 46 1.03

1 3.04 2.47 5.68 5.29 6.74 5.57 6.64 6.64 47 1

2 3.04 2.42 5.33 5.02 6.4 515 6.31 6.31 48 0.98

3 3.04 2.37 5.02 4.75 6.07 4.78 5.98 49 0.95

4 3.04 2.32 4.75 4.5 5%5) 4.47 5.67 50 0.93

5 3.04 2.27 4.5 4.24 5.44 5.36 51 0.91

6 3.04 2.22 4.28 3.99 5.14 5.06 52 0.89

7 3.04 217 4.08 3.75 4.85 4.78 53 0.87

8 3.04 212 3.89 3.52 4.57 4.5 54 0.85

9 3.04 2.07 3.73 4.3 4.24 55 0.83

10 3.04 2.02 3.57 4.04 3.98 56 0.82

1 3.04 1.97 3.43 3.79 57 0.8

12 3.04 1.92 3.3 3.55 58 0.78

13 3.04 1.87 3.18 3.32 59 0.77

14 3.04 1.82 3.07 3.09 60 0.76

15 3.04 1.77 2.96 2.88 61 0.74

16 3.04 1.72 2.86 2.68 62 0.73

17 3.04 2.77 2.49 63 0.71

18 3.04 2.69 2.31 64 0.7

19 3.04 2.6 2.14 65 0.69

20 3.04 2.53 1.98 66 0.68

21 2.82 2.46 1.83 67 0.67

22 2.64 2.39 1.69 68 0.66

23 2.48 2.32 1.56 69 0.65

24 2.33 2.26 1.44 70 0.64

25 2.21 2.21 1.32 7 0.63

26 2.09 215 72 0.62

27 1.99 241 73 0.61

28 1.9 2.05 74 0.6

29 1.81 2 75 0.59

30 1.73 1.96 76 0.58

31 1.66 1.91 77 0.57

32 1.6 1.87 78 0.56

33 1.53 1.83 79 0.56

34 1.48 1.79 80 0.55

35 1.43 1.76 81 0.54

36 1.38 1.72 82 0.53

37 1.33 1.69 83 0.53

38 1.29 1.66 84 0.52

39 1.25 1.63 85 0.51

40 1.21 1.6

41 1.18 1.57

42 1.14 1.54

43 1.1 1.51

44 1.08 1.49

45 1.05 1.46

Payload — Accelera

n/Deceleration Graph (Estimate)

LGXS07-5
Horizontal/ Vertical

Wall hanging | _, 3.5 _
kY kY
E 3 E
S 25 5 —~—
& \ &
Ko 2 Ko
\
Q 15 Q
5 N 5
s S £
° T — o
2 05 Q
|53 O
< 5 <

0O 10 20 30 40 50 60 70 80 90 6 8 10
Payload [kg] Payload [kg]
LGXS07-10
Horizontal/ Vertical

Wallhanging | . 7 -
k4 k4
E 6 E
5§ s 5 e
5 N 5
34—\ 5
@ N ]
3 N S
Q 3 Q
S 5 SN~ s
= == ]
s ™ s
[ 1 ©
Q Q
j*) j*)
< 5 <

0 5 10 15 20 25 30 35 40 45 50 3 4 5

Payload [kg]

Payload [kg]




Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS07-20
Horizontal/ Vertical

Wall hanging | . 8 7
L R
E L E S
5§ 67N 5 s —
8 5 s I
o S 4
[53 [5%
[ 4 [
[ [
=} a 3
A 5
g 2 ™~ g 2
3 ~~ 3 1
Q Q
< <

0 0
0 2 4 6 8 1012 14 16 18 20 22 24 26 0 1 2 3 4 5
Payload [kg] Payload [kg]
LGXS07-30
Horizontal/ Vertical

Wall hanging . 8 .8
% 5 A
£ £
= - \
5 6 \\ S 6
5 ™~ 5
o 5 = 5
2 T~ o
g 4 — 8
o o
s 3 s 3
k<] k<]
s 2 s 2
< <
g8 1 8 1
< <

0 0
o1 2 3 4 5 6 7 8 9 10 11 0 1 2 3
Payload [kg] Payload [kg]

M Inertia Moment
LGXS07

[kg-m*x10™] Effective stroke [mm]
Model 50 100 150 200 250 300 | 350 | 400 | 450 | 500 550 600 650 700 750 800 | 850 900 950 | 1000 | 1050 | 1100
LGXS07-5 0.623 | 0.643 | 0.662 | 0.682 | 0.701 | 0.721 | 0.740 | 0.760 | 0.779 | 0.799 | 0.818 | 0.838 | 0.857 | 0.877 | 0.896 | 0.916 | 0.935| 0.955 | 0.974 | 0.994 | 1.013 | 1.033

LGXS07-10 0.644|0.663 | 0.683 | 0.702 | 0.722 | 0.741 | 0.761 | 0.780 | 0.800| 0.819 | 0.839 | 0.858 | 0.878 | 0.897 | 0.917 | 0.936 | 0.956 | 0.975 | 0.995 | 1.014 | 1.034 | 1.053
LGXS07-20 0.728 | 0.747 | 0.767 | 0.787 | 0.806 | 0.826 | 0.845 | 0.865 | 0.884 | 0.904 | 0.923 | 0.943 | 0.962 | 0.982 | 1.001 | 1.021 | 1.040 | 1.060 | 1.079 | 1.099 | 1.118 | 1.138
LGXS07-30 0.885|0.905| 0.924 | 0.944 | 0.963 | 0.983 | 1.002 | 1.022 | 1.041 | 1.061 | 1.080 | 1.100 | 1.119 | 1.139 | 1.158 | 1.178 | 1.197 | 1.217 | 1.236 | 1.256 | 1.275 | 1.295

SXOT

- =
5 5
D
L5
-
==
Qv S
=
=9
° 3
S =
o =
S o
=8

25 I



SXOT

=
@
2
=
o
=
o
3
@
E
-

26

Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
LGXS10

LGXS10 | LGXS10 | LGXS10 | LGXS10 | LGXS10 | LGXS10 | LGXS10 | LGXS10 LGXS10 | LGXS10 | LGXS10 | LGXS10 | LGXS10 | LGXS10 | LGXS10 | LGXS10

R 5l veriat ol vel® o2l w2 bori ] v OO 5 il v I il vt o2l o2 o] v
Horizontall| Vertical |Horizontall/| Vertical [Horizontal/| Vertical [Horizontall| Vertical Horizontal/| Vertical |Horizontall| Vertical [Horizontal/| Vertical [Horizontall| Vertical
Wall hanging all hanging| all hanging Wall hanging Wall hanging Wall hanging all hanging| all hanging

Payload D D D D Payload D ; I:

kgl [m/s?] [m/s?] [m/s] [m/s] [mis?] [mis?] [m/s?] [m/s?] tka] [mis?] [mis?] [mis?] [m/s?] [m/s?] [m/s] [mis’] [m/s?]

0 2.27 1.9 6.89 3.29 6.59 8.11 9.75 9.75 90 0.94

1 2.25 1.87 6.78 3.27 6.54 7.86 9.75 9.75 91 0.93

2 2.23 1.85 6.67 3.24 6.49 7.6 9.75 9.75 92 0.92

3 2.21 1.82 6.56 3.22 6.44 7.35 9.75 9.75 93 0.92

4 219 1.8 6.46 3.2 6.39 7.09 9.75 9.75 94 0.91

5 217 1.77 6.35 3.17 6.34 6.84 9.75 95 0.9

6 215 1.75 6.25 3.15 6.29 6.59 9.75 96 0.89

7 213 1.72 6.14 3.13 6.24 6.33 9.75 97 0.89

8 211 1.7 6.04 3.4 6.18 6.08 9.75 98 0.88

9 2.09 1.67 5.94 3.08 6.13 9.01 99 0.87

10 2.07 1.65 5.84 3.05 6.08 8.38 100 0.86

1 2.05 1.62 5.74 3.03 6.03 7.83

12 2.03 1.6 5.64 3 5.98 7.34

13 2.01 1.57 5.54 2.97 5.93 6.91

14 1.99 1.55 5.44 2.95 5.88 6.53

15 1.97 1.52 5.34 2.92 5.83 6.19

16 1.95 1.5 5.25 2.89 5.78 5.89

17 1.93 1.47 5.16 2.87 5.73 5.61

18 1.91 1.45 5.06 2.84 5.68 5.36

19 1.9 1.42 4.97 2.81 5.63 5.13

20 1.88 1.39 4.88 2.78 5.58 4.91

21 1.86 1.37 4.79 5.53 4.72

22 1.84 1.34 47 5.48 4.54

23 1.82 1.32 4.61 5.42 4.37

24 1.8 1.29 4.52 5.37 4.22

25 1.79 1.27 4.44 5.32 4.07

26 1.77 1.24 4.35 5.27

27 1.75 1.22 4.27 5.22

28 1.74 1.19 4.18 5.17

29 1.72 1.17 441 5.12

30 1.7 1.14 4.02 5.07

31 1.68 3.94 5.02

32 1.67 3.86 4.97

33 1.65 3.78 4.92

34 1.63 3.7 4.87

35 1.62 3.62 4.82

36 1.6 BE55) 4.77

37 1.59 3.47 4.71

38 1.57 3.4 4.66

39 1.55 3.32 4.61

40 1.54 3.25 4.56

4 1.52 3.18

42 1.51 3.11

43 1.49 3.04

44 1.48 2.97

45 1.46 2.91

46 1.45 2.84

47 1.43 2.77

48 1.42 2.71

49 1.41 2.65

50 1.39 2.58

51 1.38 2.52

52 1.36 2.46

53 1.35 24

54 1.34 2.34

55 1.32 2.29

56 1.31 2.23

57 1.3 217

58 1.28 212

59 1.27 2.06

60 1.26 2.01

61 1.25 1.96

62 1.23 1.91

63 1.22 1.86

64 1.21 1.81

65 1.2 1.76

66 1.18 1.72

67 1.17 1.67

68 1.16 1.62

69 1.15 1.58

70 1.14 1.54

71 1.13 1.49

72 112 1.45

73 1.1 1.41

74 1.09 1.37

75 1.08 1.33

76 1.07 1.3

77 1.06 1.26

78 1.05 1.23

79 1.04 1.19

80 1.03 1.16

81 1.02

82 1.01

83 1

84 0.99

85 0.99

86 0.98

87 0.97

88 0.96

89 0.95



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS10-5
Horizontal/ Vertical
Wallhanging | _ 25 2
% % 1.8
£ \\ £
= 2 = 1.6
f = \ c
S N S 14
g N s
& 15 N 5 12
Q \ Q 1
3 N g
a] i Q 08
z 1 ~— =
o 2 06
© T
3 05 5 04
8 g 02
< < 9
0 10 20 30 40 50 60 70 80 90 100 110 0 4 8 12 16 20 24 28 32
Payload [kg] Payload [kg]
LGXS10-10
Horizontal/ Vertical
Wallhanging | _, 8 _ 35
% 7 2 4 T
E \ E —]
c 6 <
S \ S 25
g 5 S
S L 2
g ¢ g
[a] a 15
Q N Q
5 ° N 5
g 2 5
3 4 I~ 3 05
8 8
< 0 )
0 10 20 30 40 50 60 70 80 90 0 2 4 6 8 10 12 14 16 18 20 22
Payload [kg] Payload [kg]
LGXS10-20
Horizontal/ Vertical
Wallhanging | _, 7 9
% — L 8
E °© T~ £ —
8 5 T — 8 7 ‘\\
3 o~ 5 6
3 4 S 5
g g 4
g 3 Q
c c
3
§ -
5] 5 2
% 1 2 1
(5] Q
5] 5]
< < 0
0 5 10 15 20 25 30 35 40 45 0 1 2 3 4 5 6 7 8 9
Payload [kg] Payload [kg]
LGXS10-30
Horizontal/ Vertical
Wall hanging | _, 12 _ 12
R R
£ 10 £ 10
s s
T 8 ‘\ T 8
5 N 5
@ @
g g °
Q N o)
§ 4 == 5 4
© ©
g 2 g 2
8 8
< 5 <
0 2 4 6 8 101214 16 18 20 22 24 26 0 1 2 3 4 5
Payload [kg] Payload [kg]

M Inertia Moment

LLGXS10_

[kg-m*x10™] Effective stroke [mm]

Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 1050 | 1100 | 1150 | 1200 | 1250
LGXS10-5 - 10.686|0.706|0.726|0.745|0.765|0.784|0.804|0.823/0.843|0.862|0.882|0.901|0.921|0.940/0.960{0.979|0.999|1.018|1.038|1.057|1.077|1.096 | 1.116 | 1.135
LGXS10-10 - 10.707|0.726|0.746|0.765|0.785|0.804|0.824 |0.843|0.863|0.882|0.902|0.921|0.941|0.960|0.980|0.999| 1.019|1.038| 1.058|1.077|1.097| 1.116 | 1.136 | 1.155
LGXS10-20 - ]0.789|0.809|0.828|0.848|0.867|0.887|0.906|0.926|0.945|0.965|0.984|1.004|1.023|1.043|1.062|1.082|1.101 | 1.121 | 1.140| 1.160| 1.179|1.199 |1.2181.238
LGXS10-30 - |0.944/0.963|0.983|1.002(1.022|1.041|1.061|1.080|1.100| 1.119|1.139|1.158 | 1.178 | 1.197 | 1.217 |1.236|1.256|1.275|1.295|1.314|1.334|1.353|1.373|1.392

SXOT

- =
5 5
D
L5
-
==
Qv S
=
=9
° 3
S =
o =
S o
=8

27 I



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
LGXS12

LGXS12 | LGXS12 | LGXS12 | LGXS12 | LGXS12 | LGXS12 | LGXS12 | LGXS12 LGXS12 | LGXS12 | LGXS12 | LGXS12 | LGXS12 | LGXS12 | LGXS12 | LGXS12
R 5 il veriat o il vet® o2l v bori Sl v OO 5 il vt Il vet® o2l o2 bori ] v
Horizontall| Vertical |Horizontall/| Vertical [Horizontal/| Vertical [Horizontall| Vertical Horizontal/| Vertical |Horizontall| Vertical [Horizontal/| Vertical [Horizontall| Vertical
Wall hanging| all hanging| all hanging| Wall hanging| Wall hanging| Wall hanging| all hanging| all hanging|
Payload D ion | D ion | D D D ion | D ion | D ion | D N Payload D ion | D ion | D ion | D D D D ion | D N
kgl [m/s?] [m/s] [m/s] [m/s) [mis?] [mis?] [mis?] [m/s?] tka] [mis?] [mis?] [m/s?] [m/s?] [m/s] [m/s] [mis’] [m/s?]
0 2.27 1.9 8.61 3.29 9.73 8.11 9.75 9.75 90 0.94 1.09
1 2.24 1.87 8.47 3.26 9.53 7.85 9.75 9.75 91 0.93 1.06
2 2.22 1.84 8.33 3.24 9.35 7.6 9.75 9.75 92 0.92 1.03
3 2.2 1.82 8.2 3.22 9.16 7.34 9.75 9.75 93 0.91 1.01
4 218 1.79 8.06 3.19 8.98 7.09 9.75 9.75 94 0.9 0.98
5 2.16 1.77 7.93 317 8.8 6.84 9.75 9.75 95 0.9 0.96
6 214 1.74 7.8 3.15 8.62 6.58 9.75 9.75 96 0.89
7 212 1.72 7.67 3.12 8.45 6.33 9.75 9.75 97 0.88
8 21 1.69 7.54 3.1 8.28 6.07 9.75 9.75 98 0.87
9 2.08 1.67 741 3.07 8.11 5.82 9.01 99 0.87
10 2.06 1.64 7.29 3.05 7.95 5.57 8.37 100 0.86
1 2.04 1.62 716 3.02 7.79 5.31 7.82 101 0.85
12 2.02 1.59 7.04 3 7.63 5.06 7.34 102 0.84
13 2 1.57 6.92 2.97 7.48 4.81 6.91 103 0.84
14 1.98 1.54 6.79 2.94 7.33 4.55 6.53 104 0.83
15 1.96 1.52 6.67 2.92 718 4.3 6.19 105 0.82
16 1.95 1.49 6.56 2.89 7.03 5.88 106 0.82
17 1.93 1.47 6.44 2.86 6.89 5.6 107 0.81
18 1.91 1.44 6.32 2.83 6.75 B35 108 0.81
19 1.89 1.41 6.21 2.81 6.61 5.12 109 0.8
20 1.87 1.39 6.09 2.78 6.48 4.91 110 0.79
21 1.85 1.36 5.98 275 6.35 4.71 111 0.79
22 1.84 1.34 5.87 272 6.22 4.53 112 0.78
23 1.82 1.31 5.76 2.69 6.1 4.37 113 0.78
24 1.8 1.29 5.65 2.66 5.98 4.21 114 0.77
25 1.78 1.26 5.54 2.63 5.86 4.07 115 0.77
26 1.76 1.24 5.43 5.74 3.93
27 1.75 1.21 5.32 5.63 3.81
28 1.73 1.19 5.22 5.52 3.69
29 1.71 1.16 5.12 5.41 3.58
30 1.7 1.14 5.01 5.31 3.47
31 1.68 1.1 4.91 5.21 3.37
32 1.66 1.09 4.81 5.11 3.28
33 1.65 1.06 4.72 5.02 3.19
34 1.63 1.04 4.62 4.93 3.1
35 1.61 1.01 4.52 4.84 3.03
36 1.6 0.99 4.43 4.76
37 1.58 0.96 4.33 4.67
38 1.57 0.93 4.24 4.6
39 1.55 0.91 4.15 4.52
40 1.53 0.88 4.06 4.45
41 1.52 0.86 3.97 4.38
42 1.5 0.83 3.88 4.31
43 1.49 0.81 3.8 4.25
44 1.47 0.78 3.71 419
45 1.46 0.76 3.63 4.13
46 1.44 3.54 4.07
47 1.43 3.46 4.02
48 1.42 3.38 3.97
49 1.4 3.3 3.93
50 1.39 3.22 3.89
51 1.37 3.15
52 1.36 3.07
53 1.35 3
54 1.33 2.92
55 1.32 2.85
56 1.3 278
57 1.29 2.71
5 58 1.28 2.64
59 1.27 2.58
>< 60 1.25 2.51
(%] 61 1.24 2.44
— 62 1.23 2.38
= 63 1.22 2.32
3 64 1.2 2.26
= 65 1.19 2.2
= 66 1.18 214
) 67 117 2.08
3 68 1.16 2.02
e 69 114 1.97
- 70 113 1.92
71 112 1.86
72 1.1 1.81
73 1.1 1.76
74 1.09 1.71
75 1.08 1.66
76 1.07 1.62
77 1.06 1.57
78 1.05 1.53
79 1.04 1.48
80 1.03 1.44
81 1.02 1.4
82 1.01 1.36
83 1 1.32
84 0.99 1.29
85 0.98 1.25
86 0.97 1.22
87 0.96 1.18
88 0.95 115
89 0.94 112

28



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS12-5
Horizontal/ Vertical
Wall hanging | _, 25 2 ~
) B 1.8 N
£ N £ N
= 2 N = 1.6 N
5 N S 14 ™
k) ©
s 15 N 5 12 —
] ™ g 1
8 1 ™~ 8 0.8 N~
S T~ S 06
g 0.5 g 0.4
g g 02
< 9 < o0
0 10 20 30 40 50 60 70 80 90 100 110120 0O 5 10 15 20 25 30 35 40 45 50
Payload [kg] Payload [kg]
LGXS12-10
Horizontal/ Vertical
Wall hanging | _, 10 _, 35
R 9 k) 3 T ———
S A £ f—
£ 8 = T~
S 7 N § 25 I
) s
s 6 s 2
8 5 8
o S 15
e 4 a n
5 4 5 |
5 2 \\ 5
& 1 — g 05
Q Q
< < 9
0 10 20 30 40 50 60 70 80 90 100 0 2 4 6 8 1012 14 16 18 20 22 24 26
Payload [kg] Payload [kg]
LGXS12-20
Horizontal/ Vertical
Wall hanging | _, 12 _ 9
k L 8
E 10 e
5 DY § ~
® 8 ® 6 T~
(0} (0}
2 2 5
g 6 N~ g g
@ o 4
o) T~ Q
s 4 = s 3
® ®
5 5 2
[53 [53 1
8 8
< 0 < 0
0O 5 10 15 20 25 30 35 40 45 50 55 0 2 4 6 8 10 12 14 16
Payload [kg] Payload [kg]
LGXS12-30
Horizontal/ Vertical
Wall hanging | _ 12 _ 12
kY kY
£ 10 £ 10
= =
2 8 \\ 2 8 [y
k5 N\ k5 G: )
[5 Q
o 6 o 6
§ \ § w
c c
S 4 s} 4 —
E ~~ E 3
3 2 3 2 =
8 3 = 5
< < s
0 0 =]
0 5 10 15 20 25 30 35 40 0 1 2 3 4 5 6 7 8 9 o 2
Payload [kg] Payload [kg] ran 3
= §'

H Inertia Moment
LGXS12

[kg-m?x10™] Effective stroke [mm]

Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250
LGXS12-5 - 10.702|0.721|0.741|0.761|0.780|0.800|0.819|0.839/0.858|0.878|0.897|0.917|0.936|0.956 |0.975|0.995| 1.014|1.034 | 1.053|1.073|1.092| 1.112 | 1.131 | 1.151
LGXS12-10 - ]0.733|0.753|0.772|0.792|0.811|0.831|0.850|0.870|0.889|0.909|0.928|0.948|0.967(0.987|1.006| 1.026 | 1.045|1.065|1.085|1.104 | 1.124 | 1.143 | 1.163| 1.182
LGXS12-20 - |0.862|0.881|0.901/0.920(0.940|0.959|0.979(0.998/1.018|1.037|1.057|1.076(1.096| 1.115 | 1.135|1.154 | 1.174 | 1.193|1.213|1.232|1.252|1.271|1.291(1.310
LGXS12-30 - 1.092]1.111|1.131|1.150|1.170 | 1.189|1.209|1.228|1.248|1.267|1.287 |1.306|1.326|1.345|1.365|1.384 |1.404| 1.423|1.443|1.462|1.482|1.501|1.521|1.540

29 I



SXOT

=
@
2
=
o
=
o
3
@
E
-

Il 30

Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
LGXS16

LG):OS16 LGXS16 LGXS16 LGXS16 LGXS16 LG)§§16 6 6 6 6 6 6
= = - - - - 0 0 0 0 40 0
ACEEl Horizontall| Vertical |Horizontall| Vertical |Horizontall| Vertical Model onta orizo orizo
Wall hanging Wall hanging Wall hanging anging ging anging
Payload Accelerati_on/ Accelerati_onl Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelerati_on/ Payload Accelerati_on/ Accelerati_on/ Accelerati_onl Accelerati_onl Accelerati_on/ Acceleratipn/
Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration

kel [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] tka] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?]
0 5.07 3.8 7.6 L) 9.6 9.6 90 2.78 3.1
1 5.04 3.74 7.48 7.73 9.6 9.02 91 2.76 3.09
2 5.01 3.69 7.36 7.47 9.6 8.45 92 273 3.07
3 4.99 3.64 7.25 7.22 9.6 7.87 93 2.7 3.05
4 4.96 3.59 714 6.97 9.6 7.3 94 2.68 3.03
5 4.94 3.54 7.03 6.72 9.6 6.74 95 2.66 3.01
6 4.91 3.49 6.93 6.47 9.6 6.17 96 2.63

7 4.89 3.44 6.83 6.22 9.6 5.61 97 2.61

8 4.86 3.39 6.73 5.97 9.6 5.04 98 2.58

9 4.84 3.34 6.64 5.73 9.6 4.48 99 2.56

10 4.81 3.29 6.55 5.48 9.6 3.92 100 2.53

1 4.79 3.24 6.46 5.24 9.18 3.36 101 2.5

12 4.76 319 6.37 5 8.8 2.81 102 2.48

13 4.74 3.14 6.29 4.76 8.45 103 2.45

14 4.71 3.09 6.2 4.53 8.13 104 2.43

15 4.68 3.04 6.12 4.29 7.83 105 2.4

16 4.66 2.99 6.05 4.05 7.55 106 2.38

17 4.63 2.94 5.97 3.82 7.3 107 2.35

18 4.61 2.89 51) 3.59 7.05 108 2.33

19 4.58 2.83 5.82 3.36 6.83 109 23

20 4.56 2.78 5.75 3.13 6.62 110 2.28

21 4.53 2.73 5.68 2.9 6.42 111 2.25

22 4.51 2.68 5.62 2.68 6.23 112 2.23

23 4.48 2.63 5.55 2.45 6.05 113 2.2

24 4.46 2.58 5.49 2.23 5.88 114 2.18

25 4.43 2.53 5.42 2.01 5.73 115 215

26 4.4 2.48 5.36 1.79 5.58 116 212

27 4.38 2.43 5.3 1.57 5.43 17 241

28 4.36 2.38 5.24 1.35 5.3 118 2.07

29 4.33 2.33 5.19 5.17 119 2.05

30 4.3 2.28 5.13 5.05 120 2.02

31 4.28 2.23 5.08 4.93 121 2

32 4.25 218 5.02 4.82 122 1.97

33 4.23 213 4.97 4.71 123 1.95

34 4.2 2.08 4.92 4.61 124 1.92

35 4.18 2.03 4.87 4.51 125 1.9

36 4.15 1.98 4.82 4.42 126 1.87

37 413 1.93 4.77 4.33 127 1.85

38 41 1.87 4.72 4.24 128 1.82

39 4.08 1.82 4.67 4.16 129 1.79

40 4.05 1.77 4.63 4.08 130 1.77

M 4.03 1.72 4.58 4

42 4 1.67 4.54 3.93

43 3.97 1.62 4.5 3.86

44 BiI5) 1.57 4.46 3.79

45 3.92 1.52 4.41 3.72

46 3.9 1.47 4.37

47 3.87 1.42 4.33

48 3.85 1.37 4.29

49 3.82 1.32 4.26

50 3.8 1.27 4.22

51 3.77 1.22 4.18

52 3.75 147 4.14

53 3.72 1.12 4.1

54 3.7 1.07 4.07

55 3.67 1.02 4.04

56 3.65 4

57 3.62 3.97

58 3.59 3.94

59 3.57 3.9

60 3.54 3.87

61 3.52 3.84

62 3.49 3.81

63 3.47 3.78

64 3.44 3.75

65 3.42 3.72

66 331 3.69

67 3.37 3.66

68 3.34 3.63

69 3.32 3.61

70 3.29 3.58

71 3.27 3.55

72 3.24 3.53

73 3.21 3.5

74 3.19 3.47

75 3.16 3.45

76 3.14 3.42

77 3.11 3.4

78 3.09 3.38

79 3.06 3.35

80 3.04 3.33

81 3.01 3.31

82 2199 3.28

83 2.96 3.26

84 2.94 3.24

85 2.91 3.22

86 2.88 3.19

87 2.86 3.17

88 2.83 3.15

89 2.81 3.13



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS16-10
Horizontal/ Vertical
Wall hanging _ 6 _ 4
& k
£ 5 ~ £ 3.5 N
s \‘ s 3 N
® 4 ®
g \\ b 25
@ [
g 3 \ 3 2
Q N g
S 2 ™~ s S
s g 1
s ]
8 8 05
Q Q
< 5 < »
0 20 40 60 80 100 120 140 0 5 10 15 20 25 30 35 40 45 50 55 60
Payload [kg] Payload [kg]
LGXS16-20
Horizontal/ Vertical
Wall hanging _. 8 _ 9
k) 7 \ o) 8
E N E
Pl N - 7
N
S N S
g 5 ] g 6
3 I g 5
8 4 T~ °
Q T~ a 4
T 3 = T 3 N
ksl o ~N
g 2 g 5 \\‘
Q Q
< < 9
0O 10 20 30 40 50 60 70 80 90 100 0 2 4 6 8101214161820 2224 2628 30
Payload [kg] Payload [kg]
LGXS16-40
Horizontal/ Vertical
Wallhanging | _ 12 _ 12
R R
£ 10 £ 10 N
j= j =
S S ™N
5 8 5 8 ™
3 . 3 ™
o 6 N o 6 N
a N 3 N
T ™~ T ™
s 4 —~— s 4
5 5 N
g g 2
Q Q
O Q
< 9 < 9
0O 5 10 15 20 25 30 35 40 45 50 0123 456 7 8 910111213
Payload [kg] Payload [kg]

H Inertia Moment
LGXS16

[kg-m*x10] Effective stroke [mm]

Model 50 (100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050/1100(1150|1200|1250|1300|1350|1400|1450 5
LGXS16-10 | - |2.433|2.495|2.557(2.618|2.680|2.742|2.803|2.865|2.927|2.988|3.050|3.112|3.173|3.235|3.297|3.358|3.420|3.482(3.543|3.605|3.667|3.728|3.790|3.851(3.913|3.975|4.036|4.098 ><
LGXS16-20| - |2.653|2.715|2.777|2.838|2.900|2.961|3.023|3.085|3.146(3.208|3.270|3.331|3.393|3.455|3.516|3.578|3.640|3.701|3.763|3.825|3.886|3.948|4.010|4.071|4.133|4.195|4.256|4.318 w
LGXS16-40| - |3.624|3.685|3.747|3.809|3.870|3.932|3.994|4.055|4.117 |4.179|4.240|4.302|4.364 |4.425|4.487 |4.548|4.610(4.672|4.733|4.795|4.857|4.918|4.980|5.042|5.103|5.165|5.227|5.288

- =
5 5
D
L5
-
==
Qv S
=
=9
° 3
S =
o =
S o
=8

31 I



SXOT

=
@
2
=
o
=
o
3
@
E
-

32

Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
LGXS20

0 0 0 0 0 0 LGXS20 LGXS20 LGXS20 LGXS20 LGXS20 LGXS20
Model : : : : o it Model (AL Al g p2 - A
onta orizonta orizo Horizontal/| Vertical |Horizontal/| Vertical |Horizontal/| Vertical
anging a ging ging Wall hanging Wall hanging Wall hanging
Payload Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelerati_onl Accelerati_onl Accelerati_on/ Payload Accelerati_onl Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelerati_on/ Accelerati_c»nl
Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration Deceleration | Deceleration | Deceleration | Deceleration | Deceleration | Deceleration
lka] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] kgl [m/s?] [m/s?] [m/s?] [m/s?] [m/s?] [m/s?]
0 25 3.8 7.8 9.95 9.61 9.61 90 1.07 2.28
1 2.5 3.74 7.7 9.67 9.61 9.12 91 1.06 2.25
2 2.5 3.69 7.61 9.4 9.61 8.64 92 1.05 2.22
3 25 3.64 7.52 9.13 9.61 8.16 93 1.04 2.19
4 25 Bi59 7.43 8.86 9.61 7.68 94 1.03 217
5 2.5 3.54 7.34 8.59 9.61 7.2 95 1.02 2.14
6 2.5 3.49 7.25 8.32 9.61 6.72 96 1.01 212
7 2.5 3.44 7.16 8.05 9.61 6.24 97 1 2.09
8 2.5 3.39 7.07 7.78 9.61 5.76 98 0.99 2.07
9 25 3.34 6.98 7.51 9.61 5.28 99 0.98 2.05
10 25 3.29 6.89 7.24 9.2 4.8 100 0.97 2.02
1 2.5 3.24 6.81 6.97 8.83 4.32 101 0.96 2
12 2.5 3.19 6.72 6.7 8.48 3.84 102 0.95 1.98
13 25 3.14 6.64 6.43 8.17 3.36 103 0.94 1.96
14 25 3.09 6.55 6.16 7.87 2.88 104 0.94 1.94
15 2.5 3.04 6.47 5.89 7.6 2.4 105 0.93 1.92
16 2.5 2.99 6.39 5.62 7.34 106 0.92 1.9
17 25 2.94 6.31 5.35 741 107 0.91 1.89
18 2.5 2.89 6.23 5.08 6.88 108 0.9 1.87
19 25 2.83 6.15 4.81 6.67 109 0.9 1.86
20 25 2.78 6.07 4.54 6.47 110 0.89 1.84
21 2.5 2.73 5.99 4.27 6.28 11 0.88 1.83
22 2.5 2.68 5.91 4 6.11 112 0.87 1.81
23 25 2.63 5.83 3.73 5.94 113 0.87 1.8
24 25 2.58 5.76 3.46 5.78 114 0.86 1.79
25 2.5 2.53 5.68 3.19 5.63 115 0.85 1.78
26 2.5 2.48 5.6 2.92 5.49 116 0.84 1.77
27 2.5 2.43 5.53 2.65 5.36 117 0.84 1.76
28 2.5 2.38 5.46 2.38 5.23 118 0.83 1.75
29 25 2.33 5.38 2.1 5.11 119 0.82 1.74
30 2.5 2.28 5.31 1.84 4.99 120 0.82 1.73
31 2.5 2.23 5.24 1.57 4.88 121 0.81 1.72
32 2.5 218 517 1.3 4.77 122 0.8 1.72
33 25 213 5.1 1.03 4.67 123 0.8 1.71
34 2.5 2.08 5.03 0.76 4.57 124 0.79 1.7
35 2.5 2.03 4.96 0.5 4.48 125 0.79 1.7
36 2.44 1.98 4.89 4.39 126 0.78 17
37 2.38 1.93 4.82 4.3 127 0.77 1.69
38 2.33 1.87 4.76 4.22 128 0.77 1.69
39 2.28 1.82 4.69 414 129 0.76 1.69
40 2.23 1.77 4.63 4.06 130 0.76 1.69
4 2.18 1.72 4.56 3.99 131 0.75
42 214 1.67 4.5 3.91 132 0.75
43 2.09 1.62 4.43 3.85 133 0.74
44 2.05 1.57 4.37 3.78 134 0.74
45 2.01 1.52 4.31 3.711 135 0.73
46 1.97 1.47 4.25 3.65 136 0.73
47 1.94 1.42 4.19 3.59 137 0.72
48 1.9 1.37 4.13 3.53 138 0.72
49 1.87 1.32 4.07 3.48 139 0.71
50 1.83 1.27 4.01 3.42 140 0.71
51 1.8 1.22 3.95 3.37 141 0.7
52 1.77 147 3.9 3.32 142 0.7
53 1.74 1.12 3.84 3.27 143 0.69
54 1.7 1.07 3.79 3.22 144 0.69
55 1.68 1.02 3.73 3.17 145 0.68
56 1.66 0.96 3.68 313 146 0.68
57 1.63 0.91 3.63 3.08 147 0.67
58 1.61 0.86 3.57 3.04 148 0.67
59 1.58 0.81 3.52 3 149 0.66
60 1.56 0.76 3.47 2.96 150 0.66
61 1.53 0.71 3.42 2.92 151 0.66
62 1.51 0.66 3.37 2.88 152 0.65
63 1.49 0.61 3.32 2.84 153 0.65
64 1.47 0.56 3.27 2.8 154 0.64
65 1.45 0.51 3.23 2.77 155 0.64
66 1.43 3.18 156 0.64
67 1.41 3.13 157 0.63
68 1.39 3.09 158 0.63
69 1.37 3.04 159 0.62
70 1.35 3 160 0.62
71 1.34 2.96
72 1.32 2.92
73 1.3 2.87
74 1.29 2.83
75 1.27 2.79
76 1.26 2.75
77 1.24 272
78 1.23 2.68
79 1.21 2.64
80 1.2 2.6
81 1.18 2.57
82 1.17 2.53
83 1.16 2.5
84 1.14 2.46
85 1.13 2.43
86 112 2.4
87 1.1 2.37
88 11 2.34
89 1.08 2.31




Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS20-10
Horizontal/ Vertical
Wallhanging | _ 3 _ 4
k2 % 35 N\
E 25 £ \\
s \\ s 3 N
® 2 T 25 N
o \ o ~N
8 15 g 2 \\
Q \ Q 15 \
5 S g " N
£ 2
5 = g ~N
o 05 T 05 \
Q Q
Q Q
< <
0 20 40 60 80 100 120 140 160 180 0 10 20 30 40 50 60 70
Payload [kg] Payload [kg]
LGXS20-20
Horizontal/ Vertical
Wallhanging | _ 9 12
L 8 b
= N £ 10
s / 5 <
=1 6 =1 8
© ©
£ s < D
o 4 N g 6
Q N g
s 3 \\ & 4 \\
g g N
o — oL 5
Q Q
Q 1 Q
Q Q
< < 0
0 20 40 60 80 100 120 140 0 5 10 15 20 25 30 35 40
Payload [kg] Payload [kg]
LGXS20-40
Horizontal/ Vertical
Wallhanging | _ 12 _ 12
b b
£ 10 £ 10
5 \ N
- g ° ~
5 \ 5 N
§ 6 N § 6 \‘
8 N 8 N
c c \
s 4 s 4
] © ™~
g 2 g 2
Q Q
< <
0 0
0 10 20 30 40 50 60 70 0 2 4 6 8 10 12 14 16
Payload [kg] Payload [kg]

H Inertia Moment
LGXS20

[kg-m310] Effective stroke [mm]

Model | 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050|1100|1150|1200|1250|1300|1350 1400|1450 5
LGXS20-10 | - |2.524|2.585|2.647|2.709|2.770|2.832|2.894|2.955|3.017|3.079|3.140 |3.202(3.264|3.325|3.387|3.448|3.510|3.572|3.633|3.695|3.757|3.818|3.880|3.942|4.003|4.065|4.127 | 4.188 ><
LGXS20-20 | - |2.863|2.924|2.986|3.048|3.109|3.171|3.232|3.294|3.356|3.417|3.479|3.541|3.602|3.664|3.726|3.787|3.849|3.911|3.972|4.034|4.096| 4.157 | 4.219|4.281|4.342|4.404|4.466|4.527 w
LGXS20-40 | - |4.309]4.371|4.433|4.494|4.556|4.618|4.679|4.741|4.803|4.864/4.926|4.988|5.049| 5.111 | 5.173|5.234|5.296|5.357| 5.419|5.481|5.542|5.604|5.666|5.727|5.789| 5.851|5.912|5.974

- =
5 5
D
L5
-
==
Qv S
=
=9
° 3
S =
o =
S o
=8

33 I



34

External Sensor Installation Guide (Left side shown) Grease Gun Nozzle (Basic Model)

Robonity series

Item Specification Item Specification )
- - [Caution]
NET G Panasonic Industrial Display lamp Orange LED
Device SUNX, Co., Ltd. (ON when output ON) « Bracket screw tightening torque: 0.5 N-m
Model GX-F8B Ampient -25t0 +75 °C + The detection surface of the sensor and sensor plate clearance is approx. 1 mm.
environment 3510 85 %Rl—i
Output method NPN type and humidity
Protection P68
Output action ON released structure
Power voltage DC12 to 24V Cable length 5m
Load current 100 mA or less
Consumption 15 mA or less Proximity sensor
current [ e o e
Sensor Bracket
Bracket screw
Bracket bolt
Note 1. Ir ion is users’r w
Note 2. Mounting hardware included Switch target
Note 3. Sensor cable is 5 m. Adjust as needed. plate
Note 4. Sensor cable outlet can be either motor end or no motor end of actuator m
LBAS04 Proximity sensor option (No. KFU-M2205-00)
Sensor cable:
Motor side removal example No. Name Number Qty Remarks
Sensor cable: (@ |Proximity sensor KP6-M4855-01 1
Reverse motor side removal example @ |sensor Bracket KFU-M22FF-00 1
(3 |Bracket screw 90990-66J004 1 |[M3x0.5Length 8
. @ |Bracket bolt 91312-03005 2 |M3x0.5Length 5
@
;;T (® |Bracket nut 95302-03700 2 |M3
Target plate option (No. KFT-M2206-00)
No. Name Number Qty Remarks
® |Switch target plate KFT-M22G5-00 1
@ |Target plate bolt 90112-02J005 2 |M2x 0.4 Length 5
Proximity sensor option (No. KFU-M2205-00)
Sensor cable:
Motor side removal example No. Name Number Qty Remarks
Sensor cable: (@ |Proximity sensor KP6-M4855-01 1
Reverse motor side removal example @ |Sensor Bracket KFU-M22FF-00 1
(3 |Bracket screw 90990-66J004 1 |M3x0.5Length 8
é @ |Bracket bolt 91312-03005 2 |M3x0.5Length 5
;}T K ‘\‘ ® |Bracket nut 95302-03700 2 |M3
o 7 L Target plate option (No. KFU-M2206-00)
4 4.7
d (58.7) No. Name Number Qty Remarks
® |Switch target plate KFU-M22G5-00 1
(@ |Target plate bolt 90112-2AJ005 2 |M2.5x0.4 Length 5
LBAS Proximity sensor option (No. KFU-M2205-00)
Sensor cable: No. Name Number Qty Remarks
Motor side removal example —~ —
S b (@ |Proximity sensor KP6-M4855-01 1
ensor cable:
14 Reverse motor side removal example @ |Sensor Bracket KFU-M22FF-00 1
(3 |Bracket screw 90990-66J004 1 |[M3x0.5Length 8
3@ OIOE g @ |Bracket bolt 91312-03005 2 |M3x0.5Length 5
§F ':r' (® |Bracket nut 95302-03700 2 |M3
Q| | SVALER O
- Target plate option (No. KFV-M2206-00)
No. Name Number Qty Remarks
® |Switch target plate KFV-M22G5-00 1
@ |Target plate bolt 91312-03005 2 |M3x0.5Length 5
B Grease Gun Nozzle (LBAS Model)
Specially designed for LBAS model for lubrication Nozzle tip
on ball screw and linear guide. 12
* It can be used by attaching to a commercially available . H
general grease gun. 3‘ 1 |- 3 e Part number ‘KFU-M2941 -00
“t — M '\J
N
o~
Lubrication Kit hd s 15 Re1/8
Grease nozzle and nozzle tip ’
Part number |KFU-M3861-00 Grease nozzle
2-R1/8

Part number |KFU-M2942-00

4105

150




External Sensor Installation Guide (Left side shown) (Advanced Model)

onity series

Item Specification Item Specification .
- ’ [Caution]
N ETeD Panasonic Industrial Display lamp Orange LED
Device SUNX, Co., Ltd. (ON when output ON) « Bracket screw tightening torque: 0.5 N-m
Model GX-F8B Ambient 25 to +75 °C, - The detection surface of the sensor and sensor plate clearance is approx. 1 mm.
environment 35 to 85 %RH
d humidit 0097
Output method NPN type an y
Protection P68
Output action ON released structure
Power voltage DC12 to 24V Cable length sm
Load current 100 mA or less
Consumption 15 mA or less Proximity sensor
current P e e
Sensor Bracket
Bracket screw
Bracket bolt
) Bracket nut
Note 1. Installation is users’ responsibility Switch target
Note 2. Mounting hardware included plate
Note 3. Sensor cable is 5 m. Adjust as needed. m
LGXS10 Proximity sensor option (No. KEV-M2205-00)
J5 No. Name Number Qty Remarks
@ rj @ |Proximity sensor KP6-M4855-01 1
o @ 1T © o ol Qa y
s = — © © (@ |Sensor Bracket KEV-M22FF-00 1
[ ] I
i / (3 |Bracket screw 90990-66J004 1 |[M3x0.5Length 8
& oo = | @ |Bracket bolt 91312-05008 2 |M5x 0.8 Length 8
< ( < e) 1) (® |Bracket nut 95302-05700 2 |M5
i Target plate option (No. KEV-M2206-00)
L22 | 125 (1125) No. Name Number Qty Remarks
- ® |Switch target plate KEV-M22G5-00 1
@ |Target plate bolt 91312-05008 2 |M5x0.8 Length 8
LGXS12 Proximity sensor option (No. KEV-M2205-00)
J5 No. Name Number Qty Remarks
(@ |Proximity sensor KP6-M4855-01 1
© 2 | B P ‘ S
Nz = - \ ® © @ |Sensor Bracket KEV-M22FF-00 1
— @ / @ | (3 |Bracket screw 90990-66J004 1 |M3x0.5Length 8
_ &i® = © © @® |Bracket bolt 91312-05008 2 |M5x 0.8 Length 8
~ ©
=2 ( = ® |Bracket nut 95302-05700 2 |M5
@ @ Target plate option (No. KEV-M2206-00)
22 125 1375) No. Name Number Qty Remarks
- ® |Switch target plate KEV-M22G5-00 1
@ |Target plate bolt 91312-05008 2 |M5 x 0.8 Length 8
LGXS16 Proximity sensor option (No. KEX-M2205-00)
15 No. Name Number Qty Remarks
a1 o fi 5 —’g @ |Proximity sensor KP6-M4855-01 1
1= = } @ |Sensor Bracket KEX-M22FF-00 1
ii | (3 |Bracket screw 90990-66J004 1 |M3x0.5Length 8
— ( 0 g .
= olo S @ |Bracket bolt 91312-05008 2 |M5 x 0.8 Length 8
2 ] ( = (® |Bracket nut 95302-05700 2 |M5
\ [ © Target plate option (No. KEV-M2206-00)
122 Q&J 72 ‘5) No. Name Number Qty Remarks
- ® |Switch target plate KEV-M22G5-00 1
@ |Target plate bolt 91312-05008 2 |M5 x 0.8 Length 8
Proximity sensor option (No. KEY-M2205-00)
15 No. Name Number Qty Remarks
(@ |Proximity sensor KP6-M4855-01 1
[cEINe) ﬁ
= @ |Sensor Bracket KEY-M22FF-00 1
i ] (3) |Bracket screw 90990-66J004 1 |M3x0.5Length 8
s UL = @ |Bracket bolt 91312-05008 2 [M5x0.8Length 8
o
= == = (& |Bracket nut 95302-05700 2 |M5
| Target plate option (No. KEV-M2206-00)
122 No. Name Number Qty Remarks
(® |Switch target plate KEV-M22G5-00 1
@ |Target plate bolt 91312-05008 2 |M5x0.8Length 8

35 I



B 36

Reference guide for right angle motor mount (right side shown) Advanced Model

(Shim plate: t1) M
62 <Part No. KES-M2295-00>

$30H7 (*§°') Depth 4 325
4-M4x0.7 Depth 8 43

— Grounding terminal (M4)
Motor attachment surface

[\

oo

108
(61.5)

30
105

Note. For the availability of shim plate, see the adaptable servo motor table (P.15).

(Shim plate: t1) N

62 <Part No. KES-M2295-00> $30H7 (*§%') Depth 4 325
= Grounding terminal (M4) 4-Max0.7Deptn 8\ 143
— r: =£]  Motor attachment surface 5?

I Y
3 3| oo
- [} 0 6 O [¢] ©

B 1
| | : _ | _
o o o o

120

Note. For the availability of shim plate, see the adaptable servo motor table (P.16).

(Shim plate: t1) Nete

+0.025
79 <PartNo KEVM2295.00> 207 (0 ) Deptn4

Grounding terminal (V4] 4-M5<0.8 Depth 10 | 37
g Motor attachment surface
o P s
: L

45

151

Note. For the availability of shim plate, see the adaptable servo motor table (P.19).

LGXS07
(Shim plate: t1) Nt

62 <Part No. KES-M2295-00>
Grounding terminal (M4)

$30H7 (*9%') Depth 4
4-M4x0.7 Depth 8

£l Motor attachment surface

A=

o
o
o1
o
o
(61.5)

119

143

(Shim plate: 1) Nt $TOHT (*3%°) Depth 4
96 <Part No.lKEX-M?295-00> 4-M6x1.0 Depth 12 48
Grounding terminal (M4)
S — 85.3
=~ Motor attachment surface &
— A
RN
7 ¢
- ~ "o
N < © o
) |
-—-— | %,, —
o ©
) [XC)

Note. For the availability of shim plate, see the adaptable servo motor table (P.20).

(Shim plate: t1) Nete $50H7 (*8%%) Depth 4
79 <Part No. KEV-M2295-00> 4-M5x0.8 Depth 10 345
Grounding terminal (M4) .
S Motor attachment surface g’g \ 646
.
Q
- &l 92
%. Ty Q3 b )
- |
+ )

133

Note. For the availability of shim plate, see the adaptable servo motor table (P.18).

Note 1. Use by attaching the conversion adapter to the main unit. Refer to the manual
for the attachment method.

Note 2. A motor is not included in the conversion adapter. Remove a motor from the
main unit, and install the conversion adapter.

Note 3. Right installation and left installation are possible.

S20

(Shim plate: t1) Nete
96 <Part No. KEX-M2295-00>

— Grounding terminal (M4)

$70H7 (*3°) Depth 4 57
4-M6x1.0 Depth 12 85.3

Motor attachment surface

|

2911

Note. For the availability of shim plate, see the adaptable servo motor table (P.21).

Model Product model Part No. Weight
LGXS05, LGXS05L, LGXS07 GX-BEND-40 KES-M221M-00 0.4 kg
LGXS10, LGXS12 GX-BEND-60 KEV-M221M-00 1.2 kg
LGXS16, LGXS20 GX-BEND-80 KEX-M221M-00 2.7 kg




MEMO

37 I



MEMO

B 38



MEMO

39 e



A motor is not attached to this product.
For a motor and driver, prepare, attach, and adjust by the customer.

Basic Specifications List

I Basic model LBAS

Model LBAS! LBAS05 \ LBAS08

Adaptable motor 50 W 100 W 200 W
Repeatability Note ! +/-0.01 mm +/-0.01 mm +/-0.01 mm
. f Shifting position ball screw ¢ 10 | Shifting position ball screw ¢ 12 | Shifting position ball screw ¢ 16
Deceleration mechanism 7 class) (C7 class) (C7 class)
Stroke 50 mm to 800 mm (50 mm pitch) | 50 mm to 800 mm (50 mm pitch) | 50 mm to 1100 mm (50 mm pitch)
Maximum speed Nete2 1333 666 333 133 1200 600 300
(or equivalent) 800 mm/sec 400 mm/sec mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec
Ball screw lead 12 mm 6 mm 20mm | 10mm | 5mm | 2mm | 20 mm 10 mm 5mm
Maximum payload Nete3 \ Horizontal 12 kg 20 kg 12kg | 24kg | 40kg | 45kg 40 kg 80 kg 100 kg Note 1. Positioning repeatability in one
(or equivalent) | Vertical 2 kg 5kg 3kg 6 kg 12kg | 15kg 8 kg 20 kg 30 kg direction.
Rated thrust Note3 Note 2. When a moving distance is short
(or equivalent) 71N 141N 84N | 169N | 339N | 854 N 174 N 341N 683 N and depending on an operation
7 T T condition, it may not reach the
gﬂeac);li?:g}:i':::ﬁnusr:ﬂns of cross W 44 mm x H 52 mm W 54 mm x H60 mm W82 mm x H78 mm maximum speeg.
Note 3. The rated thrust and maximum
Sv.erall Ie;'gthtt - 5 ST +214 mm ST +220.5 mm ST + 278 mm transferable weight are values
sing ambient temperature an ° 9 _ f assuming the attached motor
humidity 0 to 40 °C, 35 to 80 %RH (non-condensing) outputs the rated torque.
I Advanced model LGXS
Model \ LGXS05 \ LGXS05L \ LGXS07
Adaptable motor 50 W 100w 100 W
Repeatability Note ! +/-0.005 mm +/-0.005 mm +/-0.005 mm
" . Ground ball screw ¢ 12 Ground ball screw ¢ 12 Ground ball screw ¢ 15
Deceleration mechanism (C5 class) (C5 class) (C5 class) Note 1. Positioning repeatability in one
Stroke 50 mm to 800 mm (50 mm pitch)| 50 mm to 800 mm (50 mm pitch) 50 mm to 1100 mm (50 mm pitch) direction. _ .
Maximum speed Nete2 1333 666 333 1333 666 333 1800 1200 600 300  Note 2.When a moving distance is short
(or equivalent) mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec anddc_lte_pen_(illng on a‘n °Per';at‘r:°n
Ball screw lead 20mm | 10 mm 5 mm 20mm | 10 mm 5 mm 30mm | 20mm | 10 mm 5mm (r;?anxi;rlgm 'sprgg‘é notreach the
Maximum payload Met3[Horizontal| 5 kg 8kg 13 kg 12kg | 24kg | 32kg 10kg | 25kg | 45kg | 85kg  Note 3. The rated thrust and maximum
(or equivalent) \ Vertical| 2kg 4 kg 8kg 3 kg 6 kg 12 kg 2kg 4 kg 8 kg 16 kg transferable weight are values
Rated thrust Note3 assuming the attached motor
(or equiv:lent) 41N 69N 138N 84N 169 N 339N 56 N 84N 169N 339N Noto.4 Wﬁpms the rated tlorque. ) 1
A n . ote 4. When using in a clean environment,
Maximum dimensions of cross W 48 mm x H 65 mm W 48 mm x H 65 mm W 70 mm x H 76.5 mm attach a suction air joint. The
section of main unit A H
degree of cleanliness is the
Overall length ST +131.5 mm ST +161.5 mm ST +202 mm cleanliness level achieved when
Degree of cleanliness Note4 ISO CLASS 3 (1IS014644-1) or equivalent using at 1000 mm/sec or less.
ILrlﬂ.ake a.ir:»-estt I 30 N&/min to 100 N&/min__| 30 N&/min to 100 N¢/min | 30 N&/min to 115 N¢/min e S e oo diha 1 the aporating "
sing ambient temperature an o _ f conditions and operatin:
humidity 0to 40 °C, 35 to 80 %RH (non-condensing) o orme o P 9
Model \ LGXS10 \ LGXS12 \ LGXS16 \ LGXS20
Adaptable motor 200w 400 W 750 W 750 W
R tability Note! +/-0.005 mm +/-0.005 mm +/-0.005 mm +/-0.005 mm
. . Ground ball screw ¢ 15 Ground ball screw ¢ 15 Ground ball screw ¢ 20 Ground ball screw ¢ 20
Deceleration mechanism (C5 class) (C5 class) (C5 class) (C5 class)
Stroke 100 mm to 1250 mm (50 mm pitch) 100 mm to 1250 mm (50 mm pitch) 100 mm to 1450 mm (50 mm pitch) | 100 mm to 1450 mm (50 mm pitch)
Maximum speed Note2 1800 1200 600 300 1800 1200 600 300 2400 1200 600 2400 1200 600
(or equivalent) mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec | mm/sec
Ball screw lead 30mm | 20mm | 10 mm 5 mm 30mm | 20mm | 10 mm 5mm 40mm | 20mm | 10mm | 40mm | 20 mm | 10 mm
Maximum payload Note3[Horizontal | 25 kg 40 kg 80 kg 100 kg 35 kg 50 kg 95 kg 115 kg 45 kg 95 kg 130kg | 65kg 130 kg | 160 kg
(or equivalent) | Vertical| 4kg 8 kg 20 kg 30 kg 8 kg 15 kg 25 kg 45 kg 12 kg 28 kg 55 kg 15 kg 35kg 65 kg
Rated thrust Note?
(or equivalent) 113N 170N 341N 683 N 225N 339N 678N | 1360N | 320N 640N | 1280N | 320N 640N | 1280 N
Maximum dimensions of cross
S o G G W 100 mm x H 99.5 mm W 125 mm x H 101 mm W 160 mm x H 130 mm W 200 mm x H 140 mm
Overall length ST +175.5 mm ST +211.5 mm ST +242.5 mm ST +288.5 mm
Degree of cleanliness Note4 ISO CLASS 3 (1SO14644-1) or equivalent
Intake air Notes 30 N£/min to 90 N£/min
ﬂj;"]‘%iat';‘b”“‘ (et R a 0't0 40 °C, 35 to 80 %RH (non-condensing)

&@YAMAHA

YAMAHA MOTOR CO., LTD.

Robotics Operations FA Section
127 Toyooka, Kita-ku, Hamamatsu, Shizuoka 433-8103, Japan
Tel. +81-53-525-8350 Fax. +81-53-525-8378

URL https://global.yamaha-motor.com/business/robot/
@ Specifications and appearance are subject to change without prior notice. E-MAIL robotn@yamaha-motor.co.jp

201912-AE



